08/06/2024, 10:54 Assessment - Objection Tracker Portall Response Sheet

To view all objection(s) raised by you, visit "Objection Summary" tab to submit and make payment.

{ View Objection Summary ]

Question Section Question
ID

215335 English

Language
Choose the correct answer from the options given below

Heisnot ... honourable man.
= ot
-5l

Raise
Objection

363213 a
363214 aro ”
==
363215 the
363216 none of above
Correct Option: 363214 Candidate Response: 363213

215336 English

Language
Choose the correct verb from the options given below

Unless we .......now we can't be on time

363217 P WWL - o

363218

363219

363220

Correct Option: 363217 Candidate Response: 363218

215337 English

Language
Which word is a synonym for "angry"?

363221

363222

starts
starting.

started

HAPPY

CALM

363223 < FURIOUS )
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363224 PEACEFUL
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Correct Option: 363223 Candidate Response: 363223

215338 English

Language
Choose the relative pronoun from the options given below:

We always like boys---—-speak the truth.
=

363225 Who

363226 that

363227 botha andb.

363228 which
Correct Option: 363227 Candidate Response: 363225

215339 English

Language
Fill in the past tense or past participle of verb given

My patience ——- ou at last . The inscription has ----away in several
places. (wear)

363229 wear ., wore
363230 ' 'r worn weared
363231 weared, wore
363232 . wore, worn
9|
Correct Option: 363232 Candidate Response: 363229

215340 English
Language
Choose the preposition from the options given below:

He was Killed-fg-the robber —--—--- a hatchet
L

363233
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363234 in, till

363235 by, behind

363236 to, with
Correct Option: 363233 Candidate Response: 363235

215341 English
Language Fill in the correct form of one of the phrasal verbs

. The children have to stay on the merry-go-round until it stops.........

eeeeeem——
363238 taking around
————
363239 getting on
—
363240 counting on
a
Correct Option: 363237 Candidate Response: 363240
215342 English
Language  \What is the antonym cy
363241 Unlocked
363242
363243 Exposed
363244 Free
Correct Option: 363242 Candidate Response: 363242
English

Language Put the proper conjunction in the given sentense

| read the paper -———————-—- it interest me.

=
363245 As
&

363247 But

tE 0

\

363248 Then
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Correct Option: 363246 Candidate Response: 363246
215344 English

Language Fill in the blank with apropriate word

Life is an incurable --—--—--—--

¢ ~
363249 Decease
5P

363251 dicease
363252 deasise
Correct Option: 363250 Candidate Response: 363250

215345 English
Language choose the word nearest in meaning to bold part.

It would suggest that he was generally wrong

363253 fair
363254 correct
363255
363256 impartial
Correct Option: 363255 Candidate Response: 363256
215346 English
Language Fill in the blanks with correct option B
.............. the concert tonight as
- ~—
363257 We are
363258 We will %
363259 We would
363260
Correct Option: 363260 Candidate Response: 363258
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215347 English

Language
Fill in the blank with correct conjunction.

You must improve your sales..........you will lose your job

363261

363262 for

363263 but

363264 hence
Correct Option: 363261 Candidate Response: 363261

English
Language Fill in the blanks with correct article

............ union is on strike. ’\L‘
S M v =0

ol
7 = w2

v

363267
363268 none of above
Correct Option: 363267 Candidate Response: 363265
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Raise /

Read the passage carefully and answer the questios. View

Street theatre in India is a well established ancient art figm despite the proliferation of Objection
gi.odern means of eplejtainment and communication, gigeet_theatre continues to flourish
in Indii_ Street theatre as a channel of communication has for centuries been
propagating reforms by highlighting social, economic and political issues present in the
society. Unlike in the olden days, its performance is no longer restricted to villages or
small localities of the city. Today small groups of performers including students, would
stage performances to mobilise public opinion or to help create or raise awareness over
a particular public importance. Themes of substance abuse, AIDS awareness and
domestic villages are some of areas highlighted by contemporary street theatre troupe.
Unlike regular drama, street drama employs very littie props and images. The human
body becomes the main tool in which choreography, mime, dialogues, songs and slogans
are extensively used. Street theatre is one of the most intimate media. Its appeal is to the
emotions leading to quick psychological impact on audiences. By being local and live
they also are able to establish not only direct contact with the audience, but by being
cost-effective and flexible they are popular among all age groups

Modern means of entertainment and communication ----—--—-- street
theatre
363269 ) does affect

363270 does not affect

363271 elps pupulrise

363272 help establish
Correct Option: 363270 Candidate Response: 363270

Raise /

Read the passage carefully and answer the questios. View
Street theatre in India is a well established ancient art from despite the proliferation of Objection
modern means of entertainment and communication, street theatre continues to flourish

in India. Street theatre as a channel of communication has for centuries been

propagating reforms by highlighting social, economic and political issues present in the

society. Unlike in the olden days, its performance is g longer restricted to villages or

small localities of the city. Today small groups of performers including students, would

stage performances to mobilise public opinion or to help create or raise awareness over

a particular public importance. Themes of substance abuse, AIDS awareness and

domestic villages are some of areas highlighted by contemporary street theatre troupe.

Unlike regular drama, street drama employs very little props and images. The human

body becomes the main tool in which choreography, mime, dialogues, songs and slogans

are extensively used. Street theatre is one of the most intimate media. Its appeal is to the

emotions leading to quick psychological impact on audiences. By being local and live

they also are able to establish not only direct contact with the audience, but by being

cost-effective and flexible they are popular among all age groups

In olden days street theatre -——-—-to villages or small localities of the city.
C—

363273 was restricted
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363274 was not restricted

363275 was opened

363276 was enterained
Correct Option: 363273 Candidate Response: 363273

Raise /

Read the passage carefully and answer the questios. View

Street theatre in India is a well established ancient art from despite the proliferation of Objection

modern means of entertainment and communication, street theatre continues to flourish
in India. Street theatre as a channel of communication has for centuries been
propagating reforms by highlighting social, economic and political issues present in the
society. Unlike in the olden days, its performance is no longer restricted to villages or
small localities of the city. Today small groups of performers including students, would
stage performances to mobilise public opinion or to help create or raise awareness over
a particular public importance. Themes of substance abuse, AIDS awareness and
domestic villages are some of areas highlighted by contemporary street theatre troupe.
Unlike regular drama, street drama employs very little props and images. The human
body becomes the main tool in which choreography, mime, dialogues, songs and slogans
are extensively used. Street theatre is one of the most intimate media. Its appeal is to the
emotions leading to quick psychological impact on audiences. By being local and live
they also are able to establish not only direct contact with the audience, but by being
cost-effective and flexible they are popular among all age groups

Street theatre usually —-——--- with issues of public importance.
=
363277 is distanced
363278 is performed
363279
363280 does not deal
Correct Option: 363279 Candidate Response: 363277
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Language
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Language
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Raise /

Read the passage carefully and answer the questios. View
Street theatre in India is a well established ancient art from despite the proliferation of Objection
modern means of entertainment and communication, street theatre continues to flourish

in India. Street theatre as a channel of communication has for centuries been

propagating reforms by highlighting social, economic and political issues present in the

society. Unlike in the olden days, its performance is no longer restricted to villages or

small localities of the city. Today small groups of performers including students, would

stage performances to mobilise public opinion or to help create or raise awareness over

a particular public importance. Themes of substance abuse, AIDS awareness and

domestic villages are some of areas highlighted by contemporary street theatre troupe.

Unlike regular drama, street drama employs very little props and images. The human

body becomes the main tool in which choreography, mime, dialogues, songs and slogans

are extensively used. Street theatre is one of the most intimate media. Its appeal is to the

emotions leading to quick psychological impact on audiences. By being local and live

they also are able to establish not only direct contact with the audience, but by being

cost-effective and flexible they are popular among all age groups

Street theatre is -—--than stage.

363281 nothing
'
363282 costly 7
363283 reasonable ¢
363284 affordable,
Correct Option: 363284 Candidate Response: 363284

Raise /

Read the passage carefully and answer the questios. View
Street theatre in India is a well established ancient art from despite the proliferation of Objection
modern means of entertainment and communication, street theatre continues to flourish

in India. Street theatre as a channel of communication has for centuries been

propagating reforms by highlighting social, economic and political issues present in the

society. Unlike in the olden days, its performance is no longer restricted to villages or

small localities of the city. Today small groups of performers including students, would

stage performances to mobilise public opinion or to help create or raise awareness over

a particular public importance. Themes of substance abuse, AIDS awareness and

domestic villages are some of areas highlighted by contemporary street theatre troupe.

Unlike regular drama, street drama employs very little props and images. The human

body becomes the main tool in which choreography, mime, dialogues, songs and slogans

are extensively used. Street theatre is one of the most intimate media. Its appeal is to the

emotions leading to quick psychological impact on audiences. By being local and live

mare able to establish not only direct contact with the audience, but by being

cost-effective and flexible they are popular among all age groups

Street theatre creates an/a ——-—-- impact on audiences
363285 intimate
363286 emotional

12
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215354

English
Language

Assessment - Objection Tracker Portall Response Sheet

363287 mystical
-
363288 physical

e

Correct Option: 363286 Candidate Response: 363285

Raise /
Read the passage carefully and answer the questios. View

Objection

Street theatre in India is a well established ancient art from despite the proliferation of
modern means of entertainment and communication, street theatre continues to flourish
in India. Street theatre as a channel of communication has for centuries been
propagating reforms by highlighting social, economic and political issues present in the
society. Unlike in the olden days, its performance is no longer restricted to villages or
small localities of the city. Today small groups of performers including students, would
stage performances to mobilise public opinion or to help create or raise awareness over
a particular public importance. Themes of substance abuse, AIDS awareness and
domestic villages are some of areas highlighted by contemporary street theatre troupe.
L‘Jm—gulardrama, street drama employs very little props and images. The human
body becomes the main tool in which choreography, mime, dialogues, songs and slogans
are extensively used. Street theatre is one of the most intimate media. Its appeal is to the
emotions leading to quick psychological impact on audiences. By being local and live
they also are able to establish not only direct contact with the audience, but by being
cost-effective and flexible they are popular among all age groups

What are issues covered by contemporary street theatre?

363289 Social issues

363290 political issues

363291 economic issues

363292 substance abuse, AIDS awareness and domestic villages
Correct Option: 363292 Candidate Response: 363290
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215355

215356

English
Language

English

Language

Assessment - Objection Tracker Portall Response Sheet

Raise /

Read the passage carefully and answer the questios. View
Street theatre in India is a well established ancient art from despite the proliferation of Objection
modern means of entertainment and communication, street theatre continues to flourish

in India. Street theatre as a channel of communication has for centuries been

propagating reforms by highlighting social, economic and political issues present in the

society. Unlike in the olden days, its performance is no longer restricted to villages or

small localities of the city. Today small groups of performers including students, would

stage performances to mobilise public opinion or to help create or raise awareness over

a particular public importance. Themes of substance abuse, AIDS awareness and

domestic villages are some of areas highlighted by contemporary street theatre troupe.

Unlike regular drama, street drama employs very little props and images. The human

body becomes the main tool in which choreography, mime, dialogues, songs and slogans

are extensively used. Street theatre is one of the most intimate media. Its appeal is to the

emotions leading to quick psychological impact on audiences. By being local and live

they also are able to es irect contact with the audience, but by being

cost-effective and flexible they are popular among all age groups

How's street theatre impact on audiences?

363293 slow

363294 fast

363295

363296 steady
Correct Option: 363295 Candidate Response: 363294

Raise /

Read the passage carefully and answer the questios. View
Street theatre in India is a well established ancient art from despite the proliferation of Objection
modern means of entertainment and communication, street theatre continues to flourish

in India. Street theatre as a channel of communication has for centuries been

propagating reforms by highlighting social, economic and political issues present in the

society. Unlike in the olden days, its performance is no longer restricted to villages or

small localities of the city. Today small groups of performers including students, would

stage performances to mobilise public opinion or to help create or raise awareness over

a particular public importance. Themes of substance abuse, AIDS awareness and

domestic villages are some of areas highlighted by contemporary street theatre troupe.

Unlike regular drama, street drama employs very little props and images. The human

body becomes the main tool in which choreography, mime, dialogues, songs and slogans

are extensively used. Street theatre is one of the most intimate media. Its appeal is to the

emotions leading to quick psychological impact on audiences. By being local and live

they also are able to establish not only direct contact with the audience, but by being

cost-effective and flexible they are popular among all age groups

What can be suitable title for the passage?

363297 Bollywood
363298 Drama and theatre
—
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215357

215358

215359

English
Language

English
Language

English
Language

Assessment - Objection Tracker Portall Respo:

Street theatre in India

Street play in India

363299

363300 /

Correct Option: 363299

Fill in the blanks with suitable homophone.

The thief hides himselfin the_......

363301
363302
363303

363304

Correct Option: 363301

Write the appropriate collocation in the given sentence.

C——
Its serious offenceto.............................

363305
363306
363307

363308

Correct Option: 363307

Match the following antonyms

A)Arriv () disnonour

whisper

(1) departure

Candidate Response: 363297

Candidate Response: 363301

break a record

( break the law ’>

break a habit

0

Candidate Response: 363307

D) Honour (IV) Curse
363309 (A) - (1), (B) - (1), (C) - (1), (D) - (IV)
363310 (A) - (I, (B) - (IV), (C) - (Il

——
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363311 (A) - (I1), (B) - - (IV), (D) - (1)
363312 (A= Q. () - (IV), (E (D) -=lI) >x
Correct Option: 363310 Candidate Response: 363310

215360 English

Language
Find the meaning of the underlined idiom

| have hit upon a good plan to get rid of him

=
363313 / chose

363314 m

363315 got
363316 made
Correct Option: 363314 Candidate Response: 363316

215361 English

Language
Join the given sentences by means of right connective

Coal is found in West Bengal. Iis a very useful mineral.

363317 Coal is useful mineral and found in West Bengal.
363318 useful minerals like coal found in West bengal)ﬂ
363319 Coal, which is very useful mineral, is found in West Bengal. j
e e
363320 Coal, that is useful mineral found in West Bengal
Correct Option: 363319 Candidate Response: 363317

215362 English

Language
Use the aorrect form of interrogative pronoun

\Iéy-did she say was the winner?
- ——
363321 “%

363322 /

363323

363324
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215363

215364

English
Language

English
Language

Assessment - Objection Tracker Portall Response Sheet

wh

Correct Option: 363321 Candidate Response: 363322

Find the type of tense in the given sentence.

The kinever before led his troops in battle.

363325 a[(

363326 Q 7 Present perfect tense

363327 Q Past tense

363328 present tense
Correct Option: 363325 Candidate Response: 363325

Put the correct verb in the given sentence

This book is not long. l--—-——- it by lunch time.

=
363329 will have read
363330

De reading

363331 / will read

~

363332 will be read

Correct Option: 363329 Candidate Response: 363332
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215365 English
Language choose the correct alternative

You--—-- be punctual. 0.,1
\
363333 @
363334 would
—
363335 could
-
F

363336 might

Correct Option: 363333 Candidate Response: 363333

215366 English
Language Read the sentence and write the correct form of (tense) of th

) e velb
given in bracket. e — () ¢
Cﬂ'ﬁ =

The servant (work) since morning.

=

363337 The servant has been working gince morning
C—
363338 The servant is working since morning
363339 / The servant was working since morning
363340 The servant had been working since morning
Correct Option: 363337 Candidate Response: 363337

215367 English
Language fill in the blanks with suitable phrasal verb.

The court sessions had -—-—--—-- verdict

363341 held on to

363342

363343 held out

363344 held about
Correct Option: 363342 Candidate Response: 363341
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215369

English
Language

English
Language
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Read the passage carefully and answer the questions.

The forces that generate conditions conducive to crime and riots are stronger in urban
communities than in rural areas. Urban living is more anonymous living. It often releases
the individual from community restraints more common in tradition -oriented societies. But
more freedom from constraints and controls also provides greater freedom to deviate.
And living in the more impersonalized, formally controlled Urban Society means that
regulatory orders of conduct are often directed by distant bureaucrats. The police are
strangers executing these prescriptions on an anonymous set of subjects. Minor offences
in small town or village are often handled without resort to official police action. As
disputable as such action may seem to be, it results in fewer recorded violations of the
law compared to the big cities. Although perhaps causing some decision difficulties for
the police in the small town, formal and objective law enforcement is not always
acceptable to villagers. Urban areas with mass population, greater wealth, more
commercial establishments and more products of our technology also provide more
frequent opportunities for theft. Victims are impersonalized, property is insured,
consumer goods in more abundance are vividly displayed and are more portable. The
crime-rate increases despite formal moral education given in schools.

Which of the following is a characteristic of an urban setting?

363345 w unreported minor crimes

363346 Deviation from freedom

363347 Less forceful social cont*C
363348 Fewgr recorded violations of the law
Correct Option: 363347 Candidate Response: 363345

Read the passage carefully and answer the questions.

The forces that generate conditions conducive to crime and riots are stronger in urban
communities than in rural areas. Urban living is more anonymous living. It often releases
the individual from community restraints more common in tradition -oriented societies. But
more freedom from constraints and controls also provides greater freedom to deviate.
And living in  the more impersonalized, formally controlled Urban Society means that
regulatory orders of conduct are often directed by distant bureaucrats. The police are
strangers executing these prescriptions on an anonymous set of subjects. Minor offences
in small town or village are often handled without resort to official police action. As
disputable as such action may seem to be, it results in fewer recorded violations of the
law compared to the big cities. Although perhaps causing some decision difficulties for
the police in the small town, formal and objective law enforcement is not always
acceptable to villagers. Urban areas with mass population, greater wealth, more
commercial establishments and more products of our technology also provide more
frequent opportunities for theft. Victims are impersonalized, property is insured,
consumer goods in more abundance are vividly displayed and are more portable. The
crime-rate increases despite formal moral education given in schools.

The author’s view Traditional Societies’ is best expressed by which of
the following?

363349
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215370
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They provide less freedom for the individual in many circumstances.

s ®

363350 They have lower crime rates because of the moral teaching in the
schools.

363351 They provide inadequate freedom for personal movements and travel

363352 They are ruled and controlled by distant bureaucrats.

Correct Option: 363349 Candidate Response: 363350

Raise /

Read the passage carefully and answer the questions. View
The forces that generate conditions conducive to crime and riots are stronger in urban Objection
communities than in rural areas. Urban living is more anonymous living. It often releases

the individual from community restraints more common in tradition -oriented societies. But

more freedom from constraints and controls also provides greater freedom to deviate.

And living in  the more impersonalized, formally controlled Urban Society means that

regulatory orders of conduct are often directed by distant bureaucrats. The police are

strangers executing these prescriptions on an anonymous set of subjects. Minor offences

in small town or village are often handled without resort to official police action. As

disputable as such action may seem to be, it results in fewer recorded violations of the

law compared to the big cities. Although perhaps causing some decision difficulties for

the police in the small town, formal and objective law enforcement is not always

acceptable to villagers. Urban areas with mass population, greater wealth, more

commercial establishments and more products of our technology also provide more

frequent opportunities for theft. Victims are impersonalized, property is insured,

consumer goods in more abundance are vividly displayed and are more portable. The

crime-rate increases despite formal moral education given in schools.

According to the passage, all the following contribute to higher crime
rates in urban areas except

363353 Vivid display of consumer goods.

t —
363354 Higher standard of Iiving
363355 Urban impersonalized living.

363356 adequate police force.

Correct Option: 363356 Candidate Response: 363354
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Read the passage carefully and answer the questions.

The forces that generate conditions conducive to crime and riots are stronger in urban
communities than in rural areas. Urban living is more anonymous liying. It often releases
the individual from community restraints more common in tradition -oriented societies. But
more freedom from constraints and controls also provides greater freedom to deviate.
And living in the more impersonalized, formally controlled Urban Society means that
regulatory orders of conduct are often directed by distant bureaucrats. The police are
strangers executing these prescriptions on an anonymous set of subjects. Minor offences
in small town or village are often handled without resort to official police action. As
disputable as such action may seem to be, it results in fewer recorded violations of the
law compared to the big cities. Although perhaps causing some decision difficulties for
the police in the small town, formal and objective law enforcement is not always
acceptable to villagers. Urban areas with mass population, greater wealth, more
commercial establishments and more products of our technology also provide more
frequent opportunities for theft. Victims are impersonalized, property is insured,
consumer goods in more abundance are vividly displayed and are more portable. The
crime-rate increases despite formal moral education given in schools.

Which of the following statements is true in the context of the passage?

363357 The display of consumer goods is the main cause of crime.

Raise /
View

Objection

363358 Lack of personal contacts increases crimes in Urban areas.

J

[ -

363359 Small communities have more minor crimes than in urban centres.

363360 Urban crime areas can not be prevented.

Correct Option: 363358 Candidate Response: 363358

Read the passage carefully and answer the questions.

The forces that generate conditions conducive to crime and riots are stronger in urban
communities than in rural areas. Urban living is more anonymous living. It often releases
the individual from community restraints more common in tradition -oriented societies. But
more freedom from constraints and controls also provides greater freedom to deviate.
And livingin the more impersonalized, formally controlled Urban Society means that
regulatory orders of conduct are often directed by distant bureaucrats. The police are
strangers executing these prescriptions on an anonymous set of subjects. Minor offences
in small town or village are often handled without resort to official police action. As
disputable as such action may seem to be, it results in fewer recorded violations of the
law compared to the big cities. Although perhaps causing some decision difficulties for
the police in the small town, formal and objective law enforcement is not always
acceptable to villagers. Urban areas with mass population, greater wealth, more
commercial establishments and more products of our technology also provide more
frequent opportunities for theft. Victims are impersonalized, property is insured,
consumer goods in more abundance are vividly displayed and are more portable. The
crime-rate increases despite formal moral education given in schools.

According to the passage, crime in small towns
Cre—

363361 Is less frequently reported or dealt with officially

——— = =
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363362 Is brought well under control by distant bureaucrats.

363363 Leads to an impersonalized style of living.

363364 Always causes difficulties for the police authorities.
Correct Option: 363361 Candidate Response: 363362

Raise /

Read the passage carefully and answer the questions. View
The forces that generate conditions conducive to crime and riots are stronger in urban Objection
communities than in rural areas. Urban living is more anonymous living. It often releases

the individual from community restraints more common in tradition -oriented societies. But

more freedom from constraints and controls also provides greater freedom to deviate.

And living in  the more impersonalized, formally controlled Urban Society means that

regulatory orders of conduct are often directed by distant bureaucrats. The police are

strangers executing these prescriptions on an anonymous set of subjects. Minor offences

in small town or village are often handled without resort to official police action. As

disputable as such action may seem to be, it results in fewer recorded violations of the

law compared to the big cities. Although perhaps causing some decision difficulties for

the police in the small town, formal and objective law enforcement is not always

acceptable to villagers. Urban areas with mass population, greater wealth, more

commercial establishments and more products of our technology also provide more

frequent opportunities for theft. Victims are impersonalized, property is insured,

consumer goods in more abundance are vividly displayed and are more portable. The

crime-rate increases despite formal moral education given in schools.

More opportunities to § i/in urban areas through

363365 mass populaticy

363366 greater wealth/

363367 more commercial establishments and more products of our technoloi)y./.

363368 All of above

Correct Option: 363368 Candidate Response: 363366
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Raise /

Read the passage carefully and answer the questions. View
The forces that generate conditions conducive to crime and riots are stronger in urban Objection
communities than in rural areas. Urban living is more anonymous living. It often releases

the individual from community restraints more common in tradition -oriented societies. But

more freedom from constraints and controls also provides greater freedom to deviate.

And living in  the more impersonalized, formally controlled Urban Society means that

regulatory orders of conduct are often directed by distant bureaucrats. The police are

strangers executing these prescriptions on an anonymous set of subjects. Minor offences

in small town or village are often handled without resort to official police action. As

disputable as such action may seem to be, it results in fewer recorded violations of the

law compared to the big cities. Although perhaps causing some decision difficulties for

the police in the small town, formal and objective law enforcement is not always

acceptable to villagers. Urban areas with mass population, greater wealth, more

commercial establishments and more products of our technology also provide more

frequent opportunities for theft. Victims are impersonalized, property is insured,

consumer goods in more abundance are vividly displayed and are more portable. The

crime-rate increases despite formal moral education given in schools.

Conditions conducive to crime and ri

363369 stronger in urban communities than in rural areas

363370 stronger in rural communities than in urban areas.

363371 same in rural and urban communities

363372 slightly more in rural areas than Urban
Correct Option: 363369 Candidate Response: 363370

Raise /

Games boys play! (Answer next five questions based on the following statements)

.

View

.@ e in the same team of hockeefeated Rajiv in badminton but Objection

lost to tennis. Narendra teams wit n football and with Shyam in
hockey. Rajiv defeated Shyam in chess. Those who play cricket do not play badminton,
volleyball or tennis. Mohan and Prem are in opposite teams of basketball(Narendra
represents his state in cricket while Sohan does so as the district level. Boys who play

chess do not play football, basketbdlT or volleyball. Mohan and Prem are together in the

volleyball. Mohan and Prem are together in the volleyball team. Boys who play football

also play hockey. Ly refets & B Vb, [enref -
Cowss ) L8, BE VB

Which is the most popular game with this group? &

363373 minton
363374 Footbal—
363375 Hockey
363376 Cricket
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Correct Option: 363375 Candidate Response: 363373

Raise /

Games boys play! (Answer next five questions based on the following statements) View

Mohan and Rajiv are in the same team of hockey. Prem defeated Rajiv in badminton but Objection

lost to Shyam in tennis. Narendra teams with Sohan in football and with Shyam in
hockey. Rajiv defeated Shyam in chess. Those who play cricket do not play badminton,
volleyball or tennis. Mohan and Prem are in opposite teams of basketball. Narendra
represents his state in cricket while Sohan does so as the district level. Boys who play
chess do not play football, basketball or volleyball. Mohan and Prem are together in the
volleyball. Mohan and Prem are together in the volleyball team. Boys who play football
also play hockey.

Who plays the largest number of games?

363377 Narendra

363379 / Rajiv

363380 Sohan

363378

Correct Option: 363378 Candidate Response: 363378

Raise /
Games boys play! (Answer next five questions based on the following statements)

View
Objection

Mohan and Rajiv are in the same team of hockey. Prem defeated Rajiv in badminton but
lost to Shyam in tennis. Narendra teams with Sohan in football and with Shyam in
hockey. Rajiv defeated Shyam in chess. Those who play cricket do not play badminton,
volleyball or tennis. Mohan and Prem are in opposite teams of basketball. Narendra
represents his state in cricket while Sohan does so as the district level. Boys who play
chess do not play football, basketball or volleyball. Mohan and Prem are together in the
volleyball. Mohan and Prem are together in the volleyball team. Boys who play football
also play hockey.

Which boy plays both badminton and hockey?

363381 Narendra
363382 Prem
363383 @ @
/
/
363384 Shyam
Correct Option: 363383 Candidate Response: 363382
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Raise /
Games boys play! (Answer next five questions based on the following statements) View

Objection

Mohan and Rajiv are in the same team of hockey. Prem defeated Rajiv in badminton but
lost to Shyam in tennis. Narendra teams with Sohan in football and with Shyam in
hockey. Rajiv defeated Shyam in chess. Those who play cricket do not play badminton,
volleyball or tennis. Mohan and Prem are in opposite teams of basketball. Narendra
represents his state in cricket while Sohan does so as the district level. Boys who play
chess do not play football, basketball or volleyball. Mohan and Prem are together in the
volleyball. Mohan and Prem are together in the volleyball team. Boys who play football
also play hockey.

Who plays both hockey and tennis?

363385 Narendra
363386 Prem
363387 Rajiv

363388 /

Correct Option: 363388 Candidate Response: 363385

Raise /
Games boys play! (Answer next five questions based on the following statements) View

Objection

Mohan and Rajiv are in the same team of hockey. Prem defeated Rajiv in badminton but
lost to Shyam in tennis. Narendra teams with Sohan in football and with Shyam in
hockey. Rajiv defeated Shyam in chess. Those who play cricket do not play badminton,
volleyball or tennis. Mohan and Prem are in opposite teams of basketball. Narendra
represents his state in cricket while Sohan does so as the district level. Boys who play
chess do not play football, basketball or volleyball. Mohan and Prem are together in the
volleyball. Mohan and Prem are together in the volleyball team. Boys who play football

also play hockey.

Name the boys who do not play football.

363389 Rajiv, Shyam

363390 / Raj' Q
363391 7 Raji

363392 Shyam

Correct Option: 363389 Candidate Response: 363389
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Choose the number which is different from others in the group.

363393 13

363394 17

363395 23

- e
Correct Option: 363396 Candidate Response: 363396

In a certain code, TEACHER is written as VGCEJGT. How is CHILDREN

written in the code? g B‘J’ KNFTG‘P
363397 6 H 9 EJKNEGTP

363398 V a_% B I Q‘ —E;}:NFITP

363399 @ EJKNFGTO
363400 -

Correct Option: 363400 Candidate Response: 363400

If 'cook’ is called 'butler', 'bsepmg called 'manager’, 'manager’ is called
'teacher’, 'teacher' is callg nd ‘clerk’ is called "principal’, who will
teach in a Tfass?

(a) Cook (b) Butler (c)Manager (d)Teache

363401 Cook

363402 Butler

363403 Manager

363404
Correct Option: 363404 Candidate Response: 363403
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215383 Reasoning

A man bought a type-writer for Rs. 800. If he sold it at the loss of 5%.

The selling price is —_—_—

5 T o Y =
w\ / /i-yﬁ .

AV

363407 l Rs. 755
363408 Rs. 745
Correct Option: 363406 Candidate Response: 363406

215384 Reasoning
Read the following passage to answer the questions

Anita, Mahima, Rajan, Lata and Deepti are five cousins. Anita is twice as old as Mahima.
Rajan is half the age of Mahima. Anita is half the age of Deepti and Rajan is twice the

age of Lata.
Daph’ At

Who is the youngest?
© (]
363409 ) Zef).[’ Ao

363410 u
2X
363411 2ﬂ

363412

z

Correct Option: 363411 Candidate Response: 363410

215385 Reasoning
Read the following passage to answer the questions

Anita, Mahima, Rajan, Lata and Deepti are five cousins. Anita is twice as old as Mahima
Rajan is half the age of Mahima. Anita is half the age of Deepti and Rajan is twice the
age of Lata.

Who is the eldest?

363413 Deepti
363414 Lata
363415 Anita

363416 // Rajan
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Correct Option: 363413 Candidate Response: 363413

Read the following passage to answer the questions

Anita, Mahima, Rajan, Lata and Deepti are five cousins. Anita is twice as old as Mahima.
Rajan is half the age of Mahima. Anita is half the age of Deepti and Rajan is twice the
age of Lata.

Which of the following pairs of persons are of the same age?

363417 Mahima and Lata
363418 Anita and Mahima
363419 Mahima and Rajan

363420 /

Correct Option: 363420 Candidate Response: 363418

Read the following passage to answer the questions

Anita, Mahima, Rajan, Lata and Deepti are five cousins. Anita is twice as old as Mahima.

Rajan is half the age of Mahima. Anita is half the age of Deepti and Rajan is twice the
age of Lata.

If the cousins are standing in either ascending or descending order, who
will be in the third (centre) position?

363421 Rajan

363422 Deepti

363423 C :

363424 = Anita
Correct Option: 363423 Candidate Response: 363423

Read the following passage to answer the questions

Anita, Mahima, Rajan, Lata and Deepti are five cousins. Anita is twice as old as Mahima.

Rajan is half the age of Mahima. Anita is half the age of Deepti and Rajan is twice the
age of Lata.

If Mahima is 16 years old, then what is the age of Lata?

—=
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363425

363426 FEars

363427 7 years

363428 / 14 years
Correct Option: 363425 Candidate Response: 363425

215389  Reasoning gww < “j)b’.
5186 + 87 - 3497 = ? —t

363429 5{ %é
363430 + & } @ 1689
363431 5 9 1766

363432

q ?. 1786
Correct Option: Zﬂ%& te Response: 363429
215390 Reasoning

14x24/12+13=2 [L‘ -‘-—|3 =
363433 19:44

363434 2_9 + ( 3 = 4‘2 (2/13)

363435

363436 210

Correct Option: 363435 Candidate Response: 363435
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215391 Reasoning
25="7

363437

36343@
363439 9

363440

Correct Option: 363439 Candidate Response: 363439

215392 Reasoning

Find the odd-man out.

(a) Triangle i
Corn 2% 3D~

(c) Square

(d) Cricle 7’0
/
363441 Triangle
363443 Square
363444 Circle
Correct Option: 363442 Candidate Response: 363442

215393 Reasoning

Find the odd-man out.

363445 Hook
363446 Bait
363447
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Line

363448

Correct Option: 363448 Candidate Response: 363448

215394 Reasoning
Choose the missing ter

e F

R, U XA D,?

363449 K 43 U F

363450 @

363451 H

363452 |

Correct Option: 363450 Candidate Response: 363450

215395 Reasoning

Select the number that can replace the question mark (?) in the following
series

87,89, 92, 97,104, 115, ?, 145
NN AS Y

36%4533 s' 7 " 125

363454

363455 133
363456 132
Correct Option: 363454 Candidate Response: 363454

215396 Reasoning

Select the letter that can replace the question mark (?) in the following
series:

0,B,LLC,I,D,FE?

363457 K
363458 C
363459 H
363460
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N

Correct Option: 363458 Candidate Response: 363457
215397 Reasoning
Choose the number pair which is different from others
363461 50 & 66
o=
363462 32 & 48
ﬂ
363463 64 & 80
363464 @
Z

Correct Option: 363464 Candidate Response: 363461

215398 Reasoning
Choose the group of letters which is different from others

363465 8 C D BD

363466 [ T K K
363467 @
363468 SuU
—
/
Correct Option: 363467 Candidate Response: 363467

215399 Reasoning
Pointing to a photograph, a man said, "l have no brother or sister but

that man's father is my father's son." Whose ph h was it?
— -
&
”

363469 His own

?~ 363470 @
6/ 363471 His Father's

363472 His nephew's

-4

Correct Option: 363470 Candidate Response: 363470
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In a joint family, there are father, mother and 3 married sons and one
unmarried daughter. Of the sons, two have 2 daughters each, and one
has a son. How many female members are there in the family?

363473 O= 2

| _ _
363474 3
363475 m i Eg > 6
363476@

Correct Option: 363476 Candidate Response: 363473

Arrange the following in a meaningful sequence

1 Consultation

2. IIIneV

3. Doctor Z 3 / Lf 5'

4 Treatment

5. Recovery

363478 2,3,4.1,5

363479 431,25

363480 51,43, 2
Correct Option: 363477 Candidate Response: 363477

If you write down all the numbers from 1 to 100, then how many times

do you write 3?

363481 3 11

363482 “L 3 18

d
363483 ‘ 20
363484 21

o
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Correct Option: 363483 Candidate Response: 363483

newspaper and 25% read a newspaper and watched the news on
television also. What % of the people peithegr watch the news on

Y
television nor read a newspaper?

AN
P ;\ J J/
363485 ( g 4

363486 9

In a town 65% of people watched the news on television, 40% read a /

- / P 10
363487 - 65'{’ Yo
363488
n(ru8) = a(a)+n(8) - n(At
Correct Option: 363488 Candidate Response: 363485

In a group of 15 people, 7 read French, 8 read English wh
read none of these two. How many of them read French and&

otn ,5 che—

363489 0

o Er) 353

4
E-%
363492 sy 5
Correct Option: 363490 Candidate Response: 363489
Which is the central bank of India?
363493 SBI
363494
363495 ICICI
363496 SEBI
Correct Option: 363494 Candidate Response: 363494
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215406 General

A
Knowledge |n SEZ ‘S’ Stands for Wﬂy

363497 M‘aj/

363498 é'; / Simple

363499 Stagnant

363500 Stiff
Correct Option: 363497 Candidate Response: 363499

215407 General

Knowledge
Who won the Nobel Prize in Economic Sciences in India?

363501 C.V. Raman

363502 Subramaniam Chandrashekhar

363503 Dr. Hargobind Khorana

363504 < Dr. Amartya Sen )
Correct Option: 363504 Candidate Response: 363501

215408 General

Knowledge
How many rings are in Olympics Logo?

363505 4

363506

363507

363508 7
Correct Option: 363506 Candidate Response: 363507

215409 General

Knowledge
The term Jockey is associated with____

363509 Polo
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363511 Cricket

363512 Chess
Correct Option: 363510 Candidate Response: 363509

215410 General
Knowledge

Leukemia is a disease related to

363513 Kidney

363514 Throat

363515

363516 Eyes
Correct Option: 363515 Candidate Response: 363514

215411 General

Knowledge
National Defense Academy is situated at

363517
363518 Kolkata
363519 Mumbai
363520 Dehradun
Correct Option: 363517 Candidate Response: 363518
215412 General
Knowledge World Health Day is observed on
363521 01-Apr
363522 04_Apr
363523 05-Ap
363524
Correct Option: 363524 Candidate Response: 363522
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215413 General

Knowledge
What is operation Ganga, which was recently launched by govt. of India
?
363525 Relief ope
363526 uation of Indian citizens from Ukraine
363527 suiiering due to sudden rain.
363528 Evacuation of Indian citizen from Yeman.
Correct Option: 363526 Candidate Response: 363526
215414 General
Knowledge
The Food it gated with which of the following country?
363529 India
363530 o
363531 China
363532 Malaysia
Correct Option: 363530 Candidate Response: 363530

215415 General

Knowledge
Among the planets of the Solar system the position of the earth from
Sunis __ -
363533 Second
' ° ' — ———y
363534
363535 Fourth
363536 Fifth
Correct Option: 363534 Candidate Response: 363533

215416 General

Knowledge
Which one of the following statements is not correct ?

363537
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Hirakud is a sea port

—

363538 Tarapur is an atomic power centre

363539 0 / Jog is a famous waterfall in South India

363540 Ankleshwar is a mineral oil-filed
Correct Option: 363537 Candidate Response: 363538

Which of the following statements regarding the gravitational attraction
between man and the earth are correct?

1. The man and the earth pull each other with different force.

2. The earth pulls the man with more force than the man pulling the
earth

3. The acceleration of the man due to the earth's pull is more than that
of the earth due to the man's pull

4. The accelerations of the man and the earth are the same

363541 1

363542 4

363543 2

363544 3
Correct Option: 363542 Candidate Response: 363543

215418 General

Knowledge
Where is the National Stock Exchange (NSE) located?
s
363545 Delhi
363546 Kolkata
363548 Chennai
Correct Option: 363547 Candidate Response: 363547
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The beverage crops are mainly cultivated in the

363549
363550
363551

363552

Correct Option: 363551

215420 Computer
Basics

Bengaluru

Hariyana

Odisha

Candidate Response: 363552

Which is the input device that allows a user to move the cursor or

pointer on the screen?

363553
363554
363555

363556

Correct Option: 363553

215421 Computer
Basics What does RAM stand for?

363557
363558
363559

363560

Correct Option: 363557

215422 Computer
Basics The CPU is responsible for

363561

363562

——

Microphone
Speaker

CPU

Candidate Response: 363553

Random Access Memory

Read-Only Memory
Randomly Accessed Module

Relative Access Memory

Candidate Response: 363557

Inputting Data

Processing Data
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363563 Storing Data
363564 Displaying Data
Correct Option: 363562 Candidate Response: 363562
215423 Computer
Basics Which of the following is an input device?
363565 Keyboard
cm—
363566 Prpter
363567 Monitor
a—
363568 Speaker
o—
Correct Option: 363565 Candidate Response: 363565
215424 Computer
Basics What does WWW stand for?
363569 Web World Wide
363570 World War Web

363571 World Wide Web

363572 Wide Worl

Correct Option: 363571 Candidate Response: 363571
215425 Computer
Basics The smallest unit of data in a computer is
363573 0
363574 Byte
363575 Kilobyte
363576 Megabyte
Correct Option: 363573 Candidate Response: 363573
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215426 Computer

Basics Which of the following is not an operating system?
363577 LinU)y'
363578
363579 MacOS
e
363580 Windows
Correct Option: 363578 Candidate Response: 363578

215427 Computer

Basics
Which of the following is a language?

363581
363582 JPEG
363583 MP3
363584 GIF
Correct Option: 363581 Candidate Response: 363581
215428 Computer
Basics Which of the following storage devices is volatile?
363585 Hard Disk Drive (HDDV
363586 Solid State Drive (SSD)L”
363587 USB Flash Drives”
363588 @
Correct Option: 363588 Candidate Response: 363588
215429 Computer
Basics Which of the following is not a type of printer?
363589 |nkjet/
363590 Laser g~
363591 Dot matrix
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363592

Correct Option: 363592 Candidate Response: 363592

Which of the following is an example of an application software?

363593 Linux

363594 Windows /(%
363595 Microsoft Word

363596 MacOS

Correct Option: 363595 Candidate Response: 363595

What does LAN stand for?

363597 Local Area Network

363598 Large Area Network

363599 Light Access Network

363600 Logical Access Network
Correct Option: 363597 Candidate Response: 363597

Which of the following is a file extension for an image file?

363601 .mp3

363602 docx

363603 o

363604 exe
Correct Option: 363603 Candidate Response: 363603

Which of the following is a type of malware?
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363605 Antivirus %

363606 Firewall ‘

363607 Router ¥

363608 w
Correct Option: 363608 Candidate Response: 363608

215434 Computer
Basics Which of the following is not an example of an input device?

363609

363610 Scanner *

363611 ? Keyboard @
363612 Webcam e
Correct Option: 363609 Candidate Response: 363609

L View Objection Summary
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Question Raise
Objection

Find out the correct meaning of 'ZAP' from the following :

-
363613 \/) destroy or kill something
363614 strange
363615 unpleasant
363616 unhappy cry
Correct Option: 363613 Candidate Response: 363616

opnnce — W
Identify the correct sentence. /

363617

363618 He gave me a lot of advices. %

363619 He gave me many advices.

363620 He gave me a lot of ad\icy
Correct Option: 363620 Candidate Response: 363617

Given below are two statements:

Statemenwmonyms are two or more words which Took or sou
same , but have djstinct and unrelated meanings.
StatementXL. Homophones are two or more words which soun

same but which are written differently.

In light of the above statements, choose the most appropriate answer
from the options given below.

363621 Statement (1) is correct.



363622 Statement (l1) is correct.

363623 \B%;tatement (1) and Statement (II) ar@

363624 Both Statement (I) and Statement (Il) are incorrect.

Correct Option: 363623 Candidate Response: 363622

S

. -
215438 English
Language Select thxample of present continuous tense from the

following
363625 Please be quiet. I'm worki\ny
363626 Tom isn't working today.

363627 \They don't work very hard. @
363628 / What time are you QW

Correct Option: 363627 Candidate Response: 363628

215439 English

Language

Read the statements carefully and choose correct option :-

Statement a positive idea:

Statement |l :- Little is a negative idiey

363629 Both statement (1) and statement (I1) are incorrect.
363630 6 \ Both statement (1) and statement (I1) are correct.J
363631 / Watement (1) is correct but statement (l1) is incorrect.
363632 Statement (1) is incorrect but statement (1) is correct.

Correct Option: 363630 Candidate Response: 363631



215440 English

Language
Match List | with List Il

List |1 Listll

(Example.) (Type of Tense.)

(A).We did a lot of work yesterday. @ (). present simple
;

(B).He was reading a book. @

(C). Does he play the guitar? @ (I11). present continuous ' l lv , ”,

(D). Tom is having a shower at the m t|(IV).past continuous

XIl). past simple

Choose the correct answer from thé;ap(ons given below:

363633 (A) - (1), (B) - (I), (C) - (I1), (D) - (IV)
363634 (A)- (1), (B) - (IV), (C) - (), (D) - (Il
363635 (A) - (D), (B) - (1), (C) - (IV), (D) - (1)
F
363636 (A) - (1), (B) - (IV), (C) - (1), (D) - (I1)
Correct Option: 363634 Candidate Response: 363634

215441 English
Language  Find out the Incorrect option for countable noun from the following .

363637 bottles

363638 _men .

363639 cars

363640 w
Correct Option: 363640 Candidate Response: 363640

215442 English
Language Select the term which does not match the group :

363641 @ @
f
363642 Now ’
4 /‘
363643 \ Today
363644 /b/ s vear
-



215443

215444

215445

English
Language

English
Language

English
Language

Correct Option: 363641

Identify the correct phrasal verb in the sentence :

Candidate Response: 363644

She was intelligent and got through the staff exam without difficulty.

363645
363646

363647

363648 /

Correct Option: 363647

Find the word which is the antonym of the given word :
Grief/¢
363649

363650

363651

She was
‘,ﬂ'
without difficult

got through

the staff exam

Candidate Response: 363647

excitement

sad

363652 / tight

Correct Option: 363650

Find the correct combination of irregular verbs

(A). Begin-began/ a*(/
ok~

(B). leave - left @

(C).Write- wrote \/

(D). catch - caught

Choose the correct answer from the options given below:

363653

363654

363655

Candidate Response: 363650

(A), (B) and (D) only.

(A), (B) and (C) only.




363656 y (B), (C) and (D) only.

Correct Option: 363655 Candidate Response: 363656

215446 English
Language

Fill in the blank with{correct preposition in Jhe given sentence :

Do you like travelling --J--—-

363657 on
363658 with
363659 at
363660

Correct Option: 363660 Candidate Response: 363660

215447 English
Language Choose the correct meaning of the given word:

Cemetery <= 7”%‘0

363661
363662 a place for funerals
/
363663 a cement house
363664 chemical factory
Correct Option: 363662 Candidate Response: 363664

215448 English

Language
Find out the positive adjective from the following

kan
(B). bngv
(C).timid @

(D).cheerful\/

Choose the correct answer from the options given below:



363665 B) and (D) only.

363666 = (A), (B) and (C) only.
363667 (A), (B), (C) and (D).
363668 (B), (C) and (D) only.
Correct Option: 363665 Candidate Response: 363665
215449 EngllSh Raise /
Language Read the following passage carefully and answer the questions given below: View

Objection

Itis a common belief that science is responsible for the frequent, highly destructive
twentieth century wars. The last century witnessed two extremely disastrous global wars
Even the debris of the first war had not been cleared when the second broke out. And this
war proved more devastating than the first. It was towards the end of this war that
Americans dropped atom bombs over Hiroshima and Nagasaki completely effacing the
two towns from the world map. Since the twentieth century was also the age when
science attained the highest stage of its development, a suspicion naturally creeps into
the minds of the people that there is some vital co-relation between science and war.

K
What is common belief regarding scionee=®
363669 responsible for development
363670 Overall development of mankind
671 science is responsible for the frequent, highly destructive twentieth
century wars. —
363672 vital correlation between science and peace.
Correct Option: 363671 Candidate Response: 363671
215450 EngllSh Raise /
Language Read the following passage carefully and answer the questions given below: View

Objection

It is a common belief that science is responsible for the frequent, highly destructive
twentieth century wars. The last century witnessed two extremely disastrous global wars
Even the debris of the first war had not been cleared when the second broke out. And this
war proved more devastating than tp 8O this war that
Americans dropped atom bombs oW Hiroshima and Nagasaki cometely effacing the
two towns from the world map. Since theeatisih century was,a#® the age when
science attained the highest stage of its development, a suspicion naturally creeps into
the minds of the people that there is some vital co-relation between science and war.

Name the two towns which were the victims of the second world war.
rf -

363673 Nagoya and Hiroshima



215451

215452

!

"

363674 9
363675 —
363676

Correct Option: 363674

English
Language

Nagasaki and Hiroshima

Toyokawa and Nagasaki

Yokohama and Fukuoka

Candidate Response: 363674

Read the following passage carefully and answer the questions given below:

It is a common belief that science is responsible for the frequent, highly destructive
twentieth century wars. The last century witnessed two extremely disastrous global wars
Even the debris of the first war had not been cleared when the second broke out. And this
war proved more devastating than the first. It was towards the end of this war that
Americans dropped atom bombs over Hiroshima and Nagasaki completely effacing the
two towns from the world map. Since the twentieth century was also the age when
science attained the highest stage of its development, a suspicion naturally creeps into
the minds of the people that there is some vital co-relation between science and war.

Give the antonym for the word : End

—

363677
363678
363679

363680

Correct Option: 363680

English

Language
| shall purchase the clothes if they a

adverb clause in the sentence.

363681

363682

363683

363684

Correct Option: 363683

finish

close

commencement

.//

Candidate Response: 363680

re cheap . ldentify the type of

concession
/

cause
/

gnner

condition

—

Candidate Response: 363684




215453 English

Language
The habit of eating too much is :

363686 greed

363687 grimly

363688 gloomy
Correct Option: 363685 Candidate Response: 363685

215454 English

Language
Select the correct option of past perfect tense

—_—_——
(A).Had Sarika not come herti’)/f /
(B).She had not sung a song/ &‘

(C).Raju had drawn a pictur{e/

¥ W
(D).Kedar had not been going_ to school.

faﬂ‘f"'fz /Mﬂy

Choose the correct answer from the options given below:

363689 (A), (B) and (D) only.
—
363690 (A), (B) and (C) only.
363691 (A), (B), ((D—-;an ;;)
363692 (B), (C) and (D) only.
Correct Option: 363690 Candidate Response: 363692

215455 English

Language Select the correct option of Complex Sentence formed by the given
Simple sentence :

| have brought a book. It contains a lot of information.
WV —
%\i‘;ﬂ\ 363693 Though | have brought a book; it contains a lot of information.x

‘{\? 363695 | have brought a book and it contains a lot of information.x
(P 363696 @ | have brought a boo' ontains a lot of information. /

=

j+ 363694 | have brought a book containing a lot of information»

<~



Correct Option: 363696 Candidate Response: 363695

215456 English

Language
Identify the type of sentence and choose the correct option :

If ot hurr%ve w the show.
= 7

363697 or 7@,{'

363698 P AN 210 7’5\ ¢ Compound
363699 y ¥ ‘l/ \‘ Sv
fr¢ and M pt
363700
Correct Option: 363699 Candidate Response: 363698

215457 English
Language Identify the underlined subordinate clause :

The bridge, which was damaged . will be repaired soon.

363701 Noun clause

363702 Adverb clause

363703 @ctive cla@

363704 Prepositional clause
Correct Option: 363703 Candidate Response: 363703

215458 English
Language Find the correct adjectiveg from the given sentence

The ship sustained heavy damage and the captain died

death.

(A). damage

(D).death

Choose the correct answer from the options given below:

363705 (A), (B) and (D) only.

363706



(B) and (C) only.

363707
363708 (B), (C) and (D) only.
Correct Option: 363706 Candidate Response: 363706

215459 English ] “'w
Language  Given below are two statements: w M -

tatement (I)‘ s a linking word.It joins two words phrases
or sentences. 1
\)é;ement (I): An Interjection is a word that expresses sudden feeling. 0‘1
0

-y

In light of the above statements, choose the most appropriate answer W 0 \ ’ [

from the options given below.
/‘

363709 Both Statement (1) and Statement (Il) are correct.
363710 Both Statement (1) and Statement (ll) are incorrect.
363711 Statement (1) is correct but Statement (l1) is incorrect.
363712 Statement (1) is incorrect but Statement (11) is correct.
— >
Correct Option: 363712 Candidate Response: 363709

215460 English
Language Choose the correct sentence from the following: P.P,/C"r/

363713/Though Sarvadnya does not like that school, he has been studying
there for the last 10 years. —

- B

\\M 363714 Though Sarvadnya does not like that school, hen studyir?('

there for the last 10 years.

363715 ThoughSarvadnya does not like that school, he is studying there fo?ﬁe
last 10 years.

dying there for

\A 363716 Though Sarvadnya does not like that school,

M the last 10 years.

Correct Option: 363713 Candidate Response: 363716



215461 English
Language Find the correct example of question tag

(A).You can qo anything,can you? f

(B).I am here.am |?

—
(C).We found him didn't we /z
(D).l am here , aren't {7/

Choose the correct answer from the options given below:

363717 (A), (B) and (D) only.

363718 (A), (B) and (C) only.

363719

363720 (B), (C) and (D) only.
Correct Option: 363719 Candidate Response: 363718

215462 English
Language Punctuate the sentence :

how amazing it is i said

How amm'v} Y] ?30/ é’l‘ d,

363721 "How amazing it is ? "l saidx
363722 "How amazing it is I"l sEc_i./
363723 "How amazing itis, " said.x
363724 "How amazin@l is, " saidX
C—
Correct Option: 363722 Candidate Response: 363723

215463 English

Language
Change the degree of the given sentence :

‘ﬂre Temperature is one of the most important physical factors.
—— ™
05 p' (A). Temperature is as important as physical factors. x

(B). Very few other physical factors are as important as temperature \/

gv' sical factor is important than temperature X

(D). none of the above >Q

Choose the correct answer from the options given below:



363725 (A) and (B).

363727 (C) and (D).
363728 (D) only.
Correct Option: 363726 Candidate Response: 363726

215464 English
Language Find out the correct antonyms for : accept

363729 admit

363730 agree

363731 adopt
Correct Option: 363732 Candidate Response: 363732

215465 English
Language Fill in the blanks with correct verb form in the given sentence :

Subhash Chandra Bose -—-----—- president of the Indian National
Congress in 1938.

363733 w,d is el
363734 / d had electin
363735 %
363736 KE/ was elec®

Correct Option: 363735 Candidate Response: 363736



215466 English Raise /

Language View
Given below are Three statements:

Objection

Statement (1): Mother is reading a newspaperb’

Statement (I1): A decision was taken b @
o

®)
'
In light of the above Active and Passive voice statements, choose the

most appropriate answer from the options given below.

Statement () - He has taken the book.

363737 Statement (1) and (I1l) are in passive voice and Statement (I1) is in active
voice .

363738 Statement (1), (1) and (IIl) are in passive voice .
363739 Statement (1), (I1) and (lIl) are in active voice .

363740 Statement (1) and (I11) are in active voice and Statement (I1) is in

// passive voi-c.e/ P——

Correct Option: 363740 Candidate Response: 363739
215467 English Raise /
Language  Find out the correct Imperative sentence from the given options : View
Objection
363741 The teacher ordered Mghan to leave the class at once.
363742 It is your duty to help me in my old age.
363743 // She said, " How ugly | look in this dress 1"
363744 None of you will help me.
Correct Option: 363741 Candidate Response: 363741
215468  English Raise /

Language  Select correct indirect speech forg e given direct speech: View

Objection

The teacher said to Ashok

363745 The teacher said to Ashok that he could go away.
363746 The teacher ordered Ashok to go away.
,
363747 The teacher asked Ashok if he could go away.
L J
363748 The teacher requested Ashok to go away.

>



Correct Option: 363746 Candidate Response: 363746

215469 English
Language Choose the correct pairs of Active voice and Passive voice verbs :

s °
363749 "3 rfﬂﬂ w}/" am eating - is eaten
eﬂ '
363750 V" / n speak - is speaking

e

363751 o ‘La : eing told
363752 r(} had sung - was being sing
# M
Correct Option: 363751 Candidate Response: 363751

215470 English
Language Read the following news and answer the questions

New York: 15 January, 2016: The pilot of a jetliner saved many lives today by showing
great presence of mind. Minutes after the plane took off from La Guardia Airport, New
York, it was hit by a flock of birds. This damaged its engines.

It was not possible to return to La Guardia, so the pilot decided to land the plane in the
vast expanse of the Hudson River rather than to land it in a crowded part of New York

city.

This was a deliberate emergency landing. Ferries had already been Informed and all
passengers and crew were saved. They were lucky to escape with only shock and minor
injuries.

Choose the suitable title for the above passage.
- S ————

363753 Geographical Survey of Hudson River.

363754 Pollution in Hudson River.

363755 nding in the streets of New York

363756 Emergency landing in Hudson River.

Correct Option: 363756 Candidate Response: 363756



215471

215472

English
Language

English
Language

Raise /

Read the following news and answer the questions View

New York: 15 January, 2016: The pilot of a jetliner saved many lives today by showing Objection
great presence of mind. Minutes after the plane took off from La Guardia Airport, New
York, it was hit by a flock of birds. This damaged its engines.

It was not possible to return to La Guardia, so the pilot decided to land the plane in the
vast expanse of the Hudson River rather than to land it in a crowded part of New York

city.

This was a deliberate emergency landing. Ferries had already been Informed and all
passengers and crew were saved. They were lucky to escape with only shock and minor
injuries.

Complete the following sentence by choosing correct alternative from
the news given:

The pilot of the Jetliner saved many lives. It shows he was —-—-—-—--- .

363757

363758 Courageous

363759 Disturbed

363760 Timid
Correct Option: 363758 Candidate Response: 363758

Raise /

Read the following news and answer the questions View

New York: 15 January, 2016: The pilot of a jetliner saved many lives today by showing Objection
great presence of mind. Minutes after the plane took off from La Guardia Airport, New
York, it was hit by a flock of birds. This damaged its engines.

It was not possible to return to La Guardia, so the pilot decided to land the plane in the
vast expanse of the Hudson River rather than to land it in a crowded part of New York

city.

This was a deliberate emergency landing. Ferries had already been Informed and all
passengers and crew were saved. They were lucky to escape with only shock and minor
injuries. —

—

Why were the passengers called lucky?

363761 As they escaped only with severe shock.
363762 As they escaped only with minor injuries.
363763 As they escaped only with shock and minor Injuriei
363764 As they escaped only with damaged engines.

Iz



Correct Option: 363763 Candidate Response: 363763

Choose the correct correlative conjunction in the given sentence :

____________________ youlikeit ................... not, you have to wear a pga

363765 \_ Whether
363766 Either ......... or
°
363767 Not only ........ but also
- ®
363768 // Both ......... and
Correct Option: 363765 Candidate Response: 363766

Choose the correct Wh-question word to give the underlined part of the
given sentence :

Sachin's car is red in colour.

363769 T

363770 ‘a

363771 V‘) Who

363772 Whom
Correct Option: 363770 Candidate Response: 363770

ABC Ltd. provided the following data of quarterly sales of 4 products
W X)Y,and Z. Find out Which product had the highest average sales over
the four quarters?

Product W X Y z

Q1 75 60 [105 33

Q2 90 68 98 75

Q3 83 75 90 68

Q4 105 83 83 60

363773 Product W
363774 Product X

363775 ProductY



363776 Product Z

Correct Option: 363775 Candidate Response: 363775

In a row of students, the position of Rony from the right side of the row is
15th and his position from the left side of the row is 26th. How many
total number of students are standing in the row?
T= LtR-)
363777 26-L 15-R 11
|

363778 '
363779 I ' i’ 41
=
363780 26
Correct Option: 363778 Candidate Response: 363778

215477 Reasoning

In a certain code language, QUARJER' is written as ‘REIRAWQ’. How
is ‘ANIMAL’ written in that code?
Commem— b

|

363781 L AMmI N L MINALA

363782 LAMIAN
363783 AMILAN
N
363784 @
Correct Option: 363784 Candidate Response: 363784

215478 Reasoning
Look at this series: 23, 22, 24, 23, 25, 24, ... What number should come
MM/

next?

-1 29 94
363785 22
363786 23
363787 25

363788



Correct Option: 363788 Candidate Response: 363786

215479 Reasoning
In a certain code language, ‘CAMEL’ is written as ‘OVNZX' and 'TIGER'
is written as 'IVTRG'. How is ‘ANIMAL’ written in that code language?

t
363789 CA ME L @
Z x

363790 V N ZNRMOZ
0 26 74 »

363791 ZMRNOZ_ X

L —
A N I M g NRMZOZ _ )8
Z

Correct Option: 363789 ; a=€andif5te Re§b’onse§63789

363792

215480 Reasoning
What will be the mirror image of the given figure, if mirror is placed at

right side of the figure?
P ﬂ
2 £ 2
363793 S 3
o
363794
94
363795
</,
€ S
363796
L |
S £

Correct Option: 363795 Candidate Response: 363795



215481

215482

215483

Reasoning

Reasoning

Reasoning

A family consists of six members Anita, Baban, Chandu, Prema, Ronak
and Samir. Baban is the son of Chandu, but Chandu is husband of Anita.
Ronak is the brother of Chandu. Prema is the daughter of Anita. Samir is
the brother of Anita. How many children does Anita have?

363797
363798
363799

363800

Candidate Response: 363799

Correct Option: 363798

Five friends A, B, C, D and E travelled fro a0 five different states Uttar Pradesh,

Maharashtra, Rajasthan, Karnataka and Punjab by 5 different modes of transport: Cycle,

Bus, Train, Truck, and Bike. The one who travelled to Rajasthan did not travel by Bike. C

went to Karnataka by Truck and B went to Maharashtra by Train. D travelled by Bike and

E travelled by Bus. Kerela is not connected by Cycle to Uttar Pradesh and Rajasthan.
— [

Read the above passage and answer the following two questions.

Raise /

View
Objection

Raise /

View
Objection

R o
What means of Transport diq A use/ W /ép
wo LI — .
363801 ¥ o ¢ Bus
X 7 /P(/
363802 P { % Train
363803 Bike
363804

Correct Option: 363804 Candidate Response: 363804

Five friends A, B, C, D and E travelled from Kerela to five different states Uttar Pradesh,

Maharashtra, Rajasthan, Karnataka and Punjab by 5 different modes of transport: Cycle,
Bus, Train, Truck, and Bike. The one who travelled to Rajasthan did not travel by Bike. C
went to Karnataka by Truck and B went to Maharashtra by Train. D travelled by Bike and
E travelled by Bus. Kerela is not connected by Cycle to Uttar Pradesh and Rajasthan.

Read the above passage and answer the following two questions.

Which state did D travel to?
cHavel 04

363805

363806

Ol

Raise /

View
Objection

Rajasthan



215484 Reasoning

215485 Reasoning

215486 Reasoning

X south
& noh

o(/o E)/ggb\/

ek

Uttar Pradesh

363807 /é/ Maharashtra

363808 Karnataka

Correct Option: 363806 Candidate Response: 363806

Look at this series: 90, 10, 80, 1{(2@#@ number should come

next? U
+5

+5
363809
/
363810 @ 25
363811 / 35

363812 60

Correct Option: 363809 Candidate Response: 363809

Introducing a man, @%id_ "He is the only son of my mother's

mother." How is the waman relatgd to the man ?

363813 Mother
363814 \ Aunt
yoome”
363815 Sister
D
Correct Option: 363816 Candidate Response: 363816
o

IfAG)B means A is to south of B ; A+ B means A'is to the north of B ;
% B means A is to the east of B ; A— B means A is to west of B, then in

P % Q+ R -3, Sisin which direction with respect to Q ?

363817
r—F

363818 l

363819 K —-g North-East

/ North- West

363820



215487

215488

Reasoning

Reasoning

Correct Option: 363818 Candidate Response: 363818

Raise /

o View
Posthumous Award occurs when an award is given to someone, after

their death. Choose the situation below as the best example of
Posthumous Award.

(A). Late yesteryear actress Sridevi was awarded with a W

Achievement Award posthumously in Filmfare 2019.

Objection

(B). Chitra never thought she’d live to receive a third booker prize for her
novel. C

(C). E_/ap_pel has been honoured with a prestigious literary award for his
writing career and his daughter accepted the award on behalf of her
deceased father. ”

(D).Meenal’s publisher cancelled her book contract after she failed to
deliver the manuscript on time.

Choose the correct answer from the options given below:

363821 (A) only.

363822

363823 (A) and (C) only.

363824 / (A), (B) and (C) only.

Correct Option: 363823 Candidate Response: 363821

Raise /
All squares are shapes. Some shapes are blue. What can we infer about View
squares? " Objection

363825 Some squares are blue.
363826 ‘x All squares are blue.
363827

>< No squares are blue.

—

363828 "/We cannot infer anything about squares

Correct Option: 363825 Candidate Response: 363825



215489

215490

Reasoning

Reasoning

Raise /

. ) . . . View
Given below is a Situation and two courses of action. These courses of

action may or may not follow the Situation.

Objection

Situation:

The car dealer found that there was a tremendous response for the new
XYZ's car booking with long queues of people complaining about the
duration of business hours and arrangements.

Courses of action:

Courses of action |. People should make their arrangement of lunc
and snacks while going for car XYZ's booking and be ready to spen

several hours.
Courses of action Il. Arrangement should be made for more booking
desks and increase business hours to serve more people in less tipms.

Determine which of the courses of action logically follows the given
Situation and choose the correct option from the options given below:

363829 Only | follows
363830 Only Il follows
363831 Neither | nor Il follows
7
363832 Both | and Il follow
Correct Option: 363830 Candidate Response: 363831

Raise /

) : . ) View
Given below is a statement and two assumptions. These assumptions

may or may not be implicit in the statement.

Statement: —_//d/‘Yﬁ‘/”lf -

Statement: Anger is energy, in a more prgactive way and how to
channelise it is in itself a skKill.

Objection

Assumption A: Anger need to be channelised.

Assumption B: Only skilled people can channelise anger to energx

Determine whether one or both assumptions are implicit or not in the
given statement and choose the correct option from the options given
below:

363833 Only Assumption A is implicit

363834



Only Assumption B is implicit

363835 Neither Assumption A nor Assumption B are implicit
363836 Both Assumption A and Assumption B are implicit.
Correct Option: 363834 Candidate Response: 363836

215491 Reasoning
What should come in the place of question mark (?) below.

Paisa : Rupee :: ? : Kilometre

sesy 1
- Tor- A A
363837 0D 1oy Hectometre
A
363838 ‘ ?ecametre &
363839 Metre
/"
363840 Quintal
Correct Option: 363838 Candidate Response: 363839
215492 Reasoning
Fill in the blank.

SCD, TEF, UGH, VAY WKL

—

363841 [JT
363842 VJI
363843

363844 % uJi

Correct Option: 363843 Candidate Response: 363843



215493 Reasoning
Five friends A, B, C, D and E are sitting on a bench.
(1) Ais sitting next to B.
(2) C is sitting next to D. E 6 A» C, b

. P — —
(3) D is not sitting with E. J D

(4) E is on the left end of the bench. B

(5)gjEjﬂl§gS9DQJﬂxﬂhQniuxniheiEHﬁ___»

(6) A'is on the right side of B and to the right side of E.
° Q/,_

e

(7)A and C are sitting together.

Where is A sitting ?

363845 Between B and D

363846 Between B and C

363847 Between C and E

363848 Between D and C
Correct Option: 363846 Candidate Response: 363845

215494 Reasoning é/‘_@ }\i}
If REASON is coded as 5 and BELIEVED as 7, then what is the code for

— et

GOVERNMENT?
363849 | D 7 6
-—%——
363850 8
363851 <::: 9
—
363852 = 10

Correct Option: 363851 Candidate Response: 363851



215495

215496

JrwyyvuT Sk

Reasoning

Reasoning

//

215497

Reasoning

Raise /
View

Objection

variance with known facts.
Statement:

No giraffe is a leopard.

All leopards are kangaroos.

All kangaroos are wolves.

Conclusion A: All kangaroos can never be giraffe
Conclusion B: All giraffes are definitely wolves.

Find which of the given conclusion(s) logically follow(s) from the given
statements and choose the correct option from the options given below:

363853 Only conclusions (A) follows
J—
363854 Only conclusion (B) follows
363855 Either conclusion (A) or conclusion (B) follows
363856 Both conclusions (A) and (B) follow
Correct Option: 363853 Candidate Response: 363853
Raise /
If the English letters A to Z are written in a reverse order then what is the View

fourth letter to the right of 12th letter from the left ?

C BA
TV\H &P S
36%28579_'@'\‘(\0 L? S

Objection

363858 R
363859 8 @
/
363860 = L
Correct Option: 363859 Candidate Response: 363858
Raise /
Find the odd one out from the given options. View
Objection
A
363861 Book: Author
_
363862 Art: Artist

363863



N

363864 Invention: Scientist
Correct Option: 363863 Candidate Response: 363863
215498  Reasoning  siqy the following table and answer the question Raise |

View
Expenditures of a Company (in Lakh Rupees) per Annum Over the given Years.

Objection

Item of Expenditure

Year Fuel and Interest on
Salary Bonus Taxes

V Transport Loans
D / 1998 | 288 98 3.00 234 83
/\/ 1999 | 342 112 252 325 108
/ 2000 | 324 101 3.84 416 74
* 2001 | 336 133 3.68 36.4 88

W 2002 | 410 142 3.96 494 98

The total amount of bonus paid by the company during the given period
is approximately what percent of the total amount of salary paid during

this period?

363865 0.1%
363866 0.5%
363867 1%
363868 1.25%

Correct Option: 363867 Candidate Response: 363867



215499  Reasoning  sidy the following table and answer the question

Expenditures of a Company (in Lakh Rupees) per Annum Over the given Years.

Item of Expenditure
Year Fuel and Interest on

salary m— Bonus| Taxes
1998 | 288 98 3.00 234 83
1999 | 342 112 2.52 325 108
2000 | 324 101 3.84 416 74
2001 | 336 133 3.68 36.4 88
2002 | 410 142 3.96 494 98

The ratio between the total expenditure on Taxes for all the years and
the total expenditure on Fuel and Transport for all the years respectively
is approximately?

363869 4:7

363870 58

363871 10:13

363872 15:18
Correct Option: 363871 Candidate Response: 363870

215500  Reasoning A=¢ th=at (n-Dd

Find the number of three-digit numbers which are divisible by 6.

‘Ii & N s63:73 ‘00=Q qqq

— 363874 j qqé e"h

b —
363875 _th ‘64 a @

363876 = 110 =
996 = |02-+(n"")€ @
Correct Option: 363875 Candidate Response: 3 8

QY= fn-6 ,
215501 Reasoning $ L’ \_J 'g

What shall come in place of (?) Questions mark?

Flow : River :: Stagnant : ?
/ /

363877 Canal

363878



215502

215503

215504

Reasoning

Reasoning

Reasoning

Dam

363879 D Ocean
=
363880
Correct Option: 363880 Candidate Response: 363878

From the given options, find the pair which is similar to the given pair:
279
[ )
L]
2F9
363881 Py =
322
363882 3 . 72:18 )‘
363883 ‘/'Cl/’ < 455
] / '
3 ‘0 »
363884 . ,
/

Correct Option: 363881 Candidate Response: 363884

What should come in the place of question mark (?) below.

Melt - Liquid :: Freeze :?
e

363885 Ice

363887 ﬁ Condense

363888 {/ Push

Correct Option: 363886 Candidate Response: 363886

What should come in the place of question mark (?) in the following

alpha-numeric series? G H-'- J‘ -K—. L ﬂ

C-3,E-5,G-7,1-9,?,?

' n 13

363889 X-24, M-21
363890
363891 0-15, X-24

g



215505

215506

215507

General
Knowledge

General
Knowledge

General
Knowledge

363892 M-18, K-14

Correct Option: 363890 Candidate Response: 363890

What is the theme of 75th UN Peacekeepers Doy 2um=

—

363893 Peace Begins with Me

363894 Life of Peacekeepers

363895 Security for Peacekeepers

363896 Peace For Everyone
Correct Option: 363893 Candidate Response: 363895

Which Organisation issued Electoral Bond in India?

363897 NABARD

363898 State Bank Of India

363899 RBI

363900 ICICI
Correct Option: 363898 Candidate Response: 363898

Which department launched the ‘Automated Return Scrutiny Module for
GST returns’?

363901 NAASCOM
363902 RBI
363903 NITI Aayog
363904 Central Board Of Indirect Taxes

Correct Option: 363904 Candidate Response: 363904



215508 General

Knowledge
Which of the following styles of painting belongs to Maharashtra?

363905 Minature
363906 Madhubani
363907 Kalam
363908

Correct Option: 363908 Candidate Response: 363906

215509 General
Knowledge The market of money where the stocks are traded is called:

363909 Short Term Market

363910 Capital Market

363911 Long Term Market

363912 Financial Market
Correct Option: 363910 Candidate Response: 363912

215510 General

Knowledge
In an e Commerce Transaction which of the following payment modes is

not an e- Payment?

363913 Debit Card

363914 E Wallet payment ¢

363915 @on delivery Payment i )

363916 Google Pay ¢
Correct Option: 363915 Candidate Response: 363914

215511 General
Knowledge What is the launch date for Chandrayaan 3 mission?

363917 24 th July 23

363918 @



363919 22th July 23

363920 10th July 23

Correct Option: 363918 Candidate Response: 363918

215512 General

Knowledge
Who was named the 2023 ITF World Champion by the International

Tennis Federation (ITF)?

363921 Daniil Medvedev

363922

363923 Novak Djokovic

363924 Carlos Alcaraz
Correct Option: 363923 Candidate Response: 363921

215513 General
Knowledge Who is called The Darwin Of 20th Century?

363925 Marshall Warren Nirenburg
363926 Kathrine Esau
363927 Har Gobind Khorana

363928 s Ernst Mayr )

Correct Option: 363928 Candidate Response: 363927




215514 General

Knowledge
Which city was the host of the first ever Khelo India Para Games in
2023?
363929 Ahmedabad
363930 Telangana
363931 Pune

Correct Option: 363932 Candidate Response: 363929

215515 General
Knowledge \What is the full form of BIOS

363933

363934 Basic Input/ Output System

363935 Basic Investment/ Output System

363936 Basic Input/Output Station
Correct Option: 363934 Candidate Response: 363934

215516 General

Knowledge
GPRS is used for

363937 Database

363938 Discovery Tog

363939 Geolocation
363940 Invisible Web
Correct Option: 363939 Candidate Response: 363940

215517 General
Knowledge  Which Union Ministry launched the 'YUVA PORTAL to identify potential
young Start-Ups?

363941 finistry of Youth Affairs and Sports

363942




Ministry of Science and Technology

363943 Ministry of Housing and Urban Affairs
363944 Ministry of Power
Correct Option: 363941 Candidate Response: 363941

215518 General
Knowledge \What was the theme of the G20 summit hosted in India?

363945 Making the world together

363946 Fighting poverty with rigidity

363947 Shaping an Interconnected World

363948 "One Earth-One Family-One Future".
Correct Option: 363948 Candidate Response: 363946

215519 General
Knowledge \Who took the highest wickets in World Cup 2023?

363949
363950 Mohammed Shami
363951 Dilshan Madushanka
363952 Adam Zampa
Correct Option: 363950 Candidate Response: 363950
215520 Computer
Basics Computer Organization deals with design issues
363953
363954
363955 Middle- level
363956 First- level

Correct Option: 363953 Candidate Response: 363956



215521 Computer
Basics

215522 Computer
Basics

215523 Computer
Basics

215524 Computer
Basics

The unit is often known as the computer system's nerve center.

363957

363958

363959

363960

Correct Option: 363960

The first computer architecture was designed (or developed) in

363961

363962

363963

363964

Correct Option: 363961

lnp%umt

Output unit
a—

Arithmetic and logic unj

<y

Candidate Response: 363960

The computer system is controlled by which component?

363965

363966

363967

363968

Correct Option: 363965

1980
1990

2000

Candidate Response: 363963

<
RAM

ROM

ALU

Candidate Response: 363965

What is the primary function of the CPU?

363969

363970

363971

7

10 store

To process data and execute instructions

the screen



215525

215526

215527

Computer
Basics

Computer
Basics

Computer
Basics

363972 To connect to the internet

Correct Option: 363970 Candidate Response: 363970

Monitors are also known as ?

363973 ADU

363974 ALU

363975 VCU

363976 @
Correct Option: 363976 Candidate Response: 363975

is an input device that is mostly used in notebook or
laptop computer.

363977 Light Pen

363978 Track Ball

363979 Scanner

363980 Digitizer
Correct Option: 363978 Candidate Response: 363977

Primary Memory is also known as

—
Volatile Memory

363981

363982 Non-Volatile Memory
363983 Cache Memory
363984 Permanent Memory

Correct Option: 363981 Candidate Response: 363981



215528

215529

215530

215531

Computer
Basics

Computer
Basics

Computer
Basics

Computer
Basics

Which of the following is not an example of system software?

363985 Language Translator ll

363986 Utility Software

363987 Word Processors

363988 Communication Software o
Correct Option: 363987 Candidate Response: 363988

Which of the following is an example of secondary Memory?

363989 RAM

363990 ‘ CD-ROM

363991 ROM

363992 CPU
Correct Option: 363990 Candidate Response: 363990

Which of the following term is used to define all input and output
devices?

363993

363994 Software

363995 Interpreter

363996 Compiler
Correct Option: 363993 Candidate Response: 363996

Which of the following are Advantages of mouse?

363997

363998

Difficult to use



Very expensive

363999 Moves the cursor slower than the arrow keys of the k

364000

Correct Option: 364000 Candidate Response: 364000

215532 Computer

Basics
The memory is divided into large number of small parts called ?

\
364001 @

364002 Location
364003 Rows
364004 Columns
Correct Option: 364001 Candidate Response: 364004
215533 Computer
Basics CPU controls the operation of all parts of the computer.
364005 @
364006 False
364007 can be true or false.
364008 cannot say
Correct Option: 364005 Candidate Response: 364005
215534 Computer
Basics Secondary memory is also known as :
364009 Volatile Memory
364010 ( Non-volatile memory )
364011 Solid memory
364012 Liquid memory

Correct Option: 364010 Candidate Response: 364010






QB ot

To view all objection(s) raised by you, visit "Objection Summary" tab to submit and make payment.

Question Section
ID

215535 English
Language

215536 English
Language

ih Y

2155
Language

n?”
Gﬂ‘m,

{ View Objection Summary ]

Question Raise

Objection

oD A‘ =

Satish is. (UN.NDA officer.

364013 \ 0,, a
364014 the
\ n’
364015 an
364016 No article
Correct Option: 364015 Candidate Response: 364013
Identify correct verb form of the verb to complete the following sentence:
Mohan saw me by chance and -———-——- the car.
W
364017 stopped
—
364018 stops
—
364019 was stopping
#
364020 stop
a—0

(iﬂ/’cﬂ Option: 36V Candidate Response: 364017

Identify the sentence with the correct use of the collective noun:

364021 The committeiscussing the proposal.

364022 e team has a strong sense of camaraderie.

364023 The flock of birds flew south for the winter. @ é“
commmm— ol

364024 The audience were cheering loudly.

are.



Correct Option: 364022 Candidate Response: 364023

215538 English
Language Select correct option to complete the meaningful sentence.

| didn't know -

364025 what he mean.

364026 what did he mean

364027 / what did he meant

364028 that he meant
[ 4
Correct Option: 364028 Candidate Response: 364025

215539 English
Language By May 2025, he ....._.. in this company for 16 years.

'_-’

¢

364029 will work

C—
364030 has been working
X+ %

W‘ 364031 will be working

364032 will have been working

Correct Option: 364032 Candidate Response: 364031

215540 English
Language Choose the correct prepositon to complete the sentence:

The bridge. .. this river was built in the year 2000.

364033 at/
(z)
364035 //' above
364036 on

Correct Option: 364034 Candidate Response: 364035



215541 English
Language  Which sentence demonstrates the correct use of the gerund?

364037 . \%e is interested in studying medicine ©
- —
364038 | forgot bringing my lunch today. ,iv bn'
/ eV — S ’6
364039 C’ Learning a new Ianguage can be challenglng
2 4
364040 ood at cooking deI|C|ous meals.

" -v-
Correct Option: 364V Candidate Response: 364040
215542 English il 0 :dﬂ/a
Sy

Language Choose correct question tag:
Nita dances very well .......? g i
—
364041 s does she

364042 aren't she
364043 — < doesn't she I>
P
364044 iIsn't she
Correct Option: 364043 Candidate Response: 364041

215543 English &

Language In the sentence "The red car”, "red" describes the:

—
364045 & 1 | verb
364046 ?' conjunction
S =
F
364048 preposition
Correct Option: 364047 Candidate Response: 364047

215584 English
/ Language "Shd b the store and @ iIlk." This sentence is an example of
/ 6 a T
& eo\( 364049 ﬂ compound sentence

364050 / complex sentence




364051 compound complex sentence

364052 S—Saplesonteree——

Correct Option: 364049 Candidate Response: 364052

215545 English
Language  Word 'Pedantic' means-

364053 Open to new ideas
364054 Lacking energy
364055 Feeling intense joy
364056 \Acessively concerned with minor details

2

Correct Option: 364056 Candidate Response: 364056

215546 English
Language  The word "gigantic” means:

very large

364057 A

364058 o/ very strong

364059 very bold

364060 very cute
Correct Option: 364057 Candidate Response: 364059

215547 English
Language "She is a very meticulous person." What does "meticulous"” mean?

364061 Careless
364062 6 @areful an@
364063 0/ Funny
364064 Loud

Correct Option: 364062 Candidate Response: 364061



215548

215549

215550

English
Language

English
Language

English
Language

Raise /
View

"Can you elaborate on your idea?" In this sentenge, "elaborate”

Objection

364065 Disagree}
364066 B \ Explain in more detail I
E— P
364067 7 Ignore
364068 Interrupt
Correct Option: 364066 Candidate Response: 364068

Raise /

Which sentence demonstrates the passive voice? M’ View
Objection

364069 ﬁe children built a sandcastle.

364070 g ’ 2 ‘ The cake was eaten quickly.
364071 9| ﬂ? 6 p sn beautiful song.

364072 We explored the ancient ruins.

‘/ Se— W

Correct Option: 364070 Candidate Response: 364069

Raise /

Read the following passage carefully and select correct option: View

The unscientific world, therefore, has always endeavoured to interpret dreams, and by Objection
applying one or the other of two essentially different methods. The first of these methods

envisages the dream- content as a whole, and seeks to replace it by another content,

which is intelligible and in certain respects analogous. This is symbolic dream-

interpretation; and of course it goes to pieces at the very outset in the case of those

dreams which are not only unintelligible but confused. The construction which the biblical

Joseph placed upon the dream of Pharaoh furnishes an example of this method. The

seven fat kine, after which came seven lean ones that devoured the former, were a

symbolic substitute for seven years of famine in the land of Egypt, which according to the

prediction were 10 consume all the surplus that seven fruitful years had produced

The passage mentions the story of Joseph and Pharaoh's dream as an

example of:
364073 Scientific dream interpretation
364074 The limitations of dream interpretation

364075 Symbolic dream interpretation >

364076 Modern dream analysis techniques




215551

215552

English
Language

English
Language

Correct Option: 364075 Candidate Response: 364075

Raise /

Read the following passage carefully and select correct option: View
The unscientific world, therefore, has always endeavoured to interpret dreams, and by Objection
applying one or the other of two essentially different methods. The first of these methods

envisages the dream- content as a whole, and seeks to replace it by another content,

which is intelligible and in certain respects analogous. This is symbolic dream-

interpretation; and of course it goes to pieces at the very outset in the case of those

dreams which are not only unintelligible but confused. The construction which the biblical

Joseph placed upon the dream of Pharaoh furnishes an example of this method. The

seven fat kine, after which came seven lean ones that devoured the former, were a

symbolic substitute for seven years of famine in the land of Egypt, which according to the

prediction were to consume all the surplus that seven fruitful years had produced

According to the passage, which of the following is TRUE about
symbolic dream interpretation?

L O U P )
364077 It is a scientific method for analyzing dreams.
364078 It cannot be used for clear and vivid dreams.
364079 It is always successful in deciphering any dream.
364080 It interprets the entire dream as a symbol with a hidden meaning.
Correct Option: 364080 Candidate Response: 364078

Raise /

Read the following passage carefully and select correct option: View

The unscientific world, therefore, has always endeavoured to interpret dreams, and by Objection
applying one or the other of two essentially different methods. The first of these methods

envisages the dream- content as a whole, and seeks to replace it by another content,

which is intelligible and in certain respects analogous. This is symbolic dream-

interpretation; and of course it goes to pieces at the very outset in the case of those

dreams which are not only unintelligible Qui confused. The construction which the biblical

Joseph placed upon the dream of Pharaoh furnishes an example of this method. The

seven fat kine, after which came seven lean ones that devoured the former, were a

symbolic substitute for seven years of famine in the land of Egypt, which according to the

prediction were to consume all the surplus that seven fruitful years had produced

Based on the passage, what is@ major weakness gf symbolic dream

interpretation?

364081 It cannot be applied to dreams with clear symbols.
364082 It requires specialized training to use.
364083 It struggles to interpret unclear or confusing dreams.

G oo -



364084 It is not relevant to the study of history.

Correct Option: 364083 Candidate Response: 364083

215553 English Raise /
Language Read the following passage carefully and select correct option: View

Objection

The unscientific world, therefore, has always endeavoured to interpret dreams, and by

applylng one or the other of T Essentially AeTent MEMoas. 1he first of these methods
envisages mVisages the dream: ComEnTaSETno] €, and seeks to replace it by another content,

which is intelligible and in certain respects analogous. This is symbolic dream-
interpretation; and of course it goes to pieces at the very outset in the case of those
dreams which are not only unintelligible but confused. The construction which the biblical
Joseph placed upon the dream of Pharaoh furnishes an example of this method. The
seven fat kine, after which came seven lean ones that devoured the former, were a
symbolic substitute for seven years of famine in the land of Egypt, which according to the
prediction were to consume all the surplus that seven fruitful years had produced

Which of the following statements can be inferred from the passage
about the history of dream interpretation?

364085 Symbolic dream interpretation is a recent invention.

364086 The passage suggests there are only two methods of dream
interpretation.

364087  Scientific methods have completely replaced symbolic interpretation.

364088 | The unscientificworld has a long history of trying to interpret dreams ,

Correct Option: 364088 Candidate Response: 364085

215554 English Raise /
Language Read the following passage carefully and select correct option: View

Objection

The unscientific world, therefore, has always endeavoured to interpret dreams, and by
applying one or the other of two essentially different methods. The first of these methods
envisages the dream- content as a whole, and seeks to replace it by another content,
which is intelligible and in certain respects analogous. This is symbolic dream-
interpretation; and of course it goes to pieces at the very outset in the case of those
dreams which are not only unintelligible but confused. The construction which the biblical
Joseph placed upon the dream of Pharaoh furnishes an example of this method. The
seven fat kine, after which came seven lean ones that devoured the former, were a
symbolic substitute for seven years of famine in the land of Egypt, which according to the
prediction were to consume all the surplus that seven fruitful years had produced

In the context of the passage, what is the MAIN purpose of replacing the
dream content with another content?

364089 To analyze the dreamer's mental state.
364090 6 To achieve a clearer and more understandable meaning.

‘/7 .



364091 To make the dream more entertaining.

364092 To create a more symbolic and artistic representation.
Correct Option: 364090 Candidate Response: 364092
215555 English Raise |
Language Read the following passage carefully and select correct option: View

Objection

The unscientific world, therefore, has always endeavoured to interpret dreams, and by
applying one or the other of two essentially different methods. The first of these methods
envisages the dream- content as a whole, and seeks to replace it by another content,
which is intelligible and in certain respects analogous. This is symbolic dream-
interpretation; and of course it goes to pieces at the very outset in the case of those
dreams which are not only unintelligible but confused. The construction which the biblical
Joseph placed upon the dream of Pharaoh furnishes an example of this method. The
seven fat kine, after which came seven lean ones that devoured the former, were a
symbolic substitute for seven years of famine in the land of Egypt, which according to the
prediction were to consume all the surplus that seven fruitful years had produced

Based on the passage, which of the following would be the most
appropriate title?

364093 T of Symbolic Dream lnterpretatio/

364094 Scientific Methods of Dream Analys/;
364095 9 Limitations of Symbolic Dream Interpretatiir/
364096 The History of Dream Interpretation in the Bible

— __

Correct Option: 364095 Candidate Response: 364096

215556 English Raise /

Language View
Choose the word that has the closest meaning (synonym) to the o
Objection

underlined word.
The speaker's concise explanation made the topic easy to understand.

364097 lengthy =
364098 detailed*”
364099
364100 confusing/

Correct Option: 364099 Candidate Response: 364098



215557 English
Language  Antonym for word-terse:

=
364101 Short
364102 0 Elaborate
364103 ,/ Delicate
364104 Precise
Correct Option: 364102 Candidate Response: 364102
215558 English
Language
The synonym of word ‘Denial’ is-
364105 Rejection
364106 ﬂ Acceptance
364107
‘/ Thoughtful
364108 Pretend
Correct Option: 364105 Candidate Response: 364108
215559 English
Language The antonym of word ‘Artificial’ is-
364109 Tailored
364110 . Possible
2 S
364112 Ordinary
Correct Option: 364111 Candidate Response: 364112

215560 English
Language
Select the word which has similier meaning to the underlined word:

He had a ‘perilous’ journey across the hills.

364113 & Tirmg

364114




364115 Thrilling
364116 Dead|y
Correct Option: 364114 Candidate Response: 364114

215561 English
Language Give one word for following expression-

Life history of a man written by himseli-

364117 Biography
364118 Bibliography
364119 Caligraphy

364120 Autobiography

Correct Option: 364120 Candidate Response: 364117

215562 English
Language  Give one word for following expression-

Matter written by hand-

364121

364122

364123 Amensty

364124 Proof
Correct Option: 364122 Candidate Response: 364124

215563 English
Language Choose the one which best expresses the meaning of the given
idioms/phrases-

A white elephant-

364125 a costly thing
364126 an elephant with white skin

364127 a costly and useful thing



215564

215565

215566

English
Language

English
Language

English
Language

364128 a costly but useless thiD

Correct Option: 364128 Candidate Response: 364126

Choose the correct meaning of the underlined idiom/phrase:

He is pissed off with the behaviour of the manager.

364129

364130

364131

364132 to delay in accordingly
Correct Option: 364130 Candidate Response: 364130

Choose correct meaning of the following expression:

Sitting on the fence

364133 unbalanced
364134 coward
364135

364136 between two options

Correct Option: 364136 Candidate Response: 364133

Which word is spelled correctly?

364137
364138 Accommodate
364139 Accomidate

364140 Acomidate



215567

215568

215569

English
Language

English
Language

English
Language

Correct Option: 364138 Candidate Response: 364137

Raise /

Identify the word with the following meaning: a formal written statement View
declaring something under oath. Objection
364141 w
364142 Affidevit
364143 Affadavit
364144 Affadavite

Correct Option: 364141 Candidate Response: 364141

Raise /

View

Which of the following sentences is punctuated correctly? o
Objection

364145  The tired hiker finally reached the summit, exhausted but exhilarate@
==

364146  The tired hiker, finally reached the summit,exhausted but exhilarate@

364147 C/ The tired hiker reached the summit, exhausted, but exhilarated,‘/

7
364148 The tired hiker reached the summit. Exhausted but exhilarated.
Correct Option: 364147 Candidate Response: 364145

Raise /

Read the following passage carefully and choose correct option: View

Objection

Regarding the cultural mapping of India, the first thought that comes to mind is the
overwhelming plurality of languages here, through which literary traditions flow
effortlessly. The history of literary cultures portrays their confluences and divergences
over centuries, sometimes crisscrossing and at times running parallel to each other.
Literary historians have often commented on the phenomenon of how the inevitable
dialogue amongst these similar and yet diverse traditions has further led to the
enrichment of each language and its literature. It may be noted that, with the advent of
modernity and the print culture, even though oral traditions continued to exist vibrantly in
the public sphere, what came to be acknowledged as mainstream literature, was what
was written in literary forms such as long and short fiction, poetry, drama. But then, there
has been a constant give-and- take between the written and the oral, duly recognized
right from the days of the epic formulation.

The passage suggests that India's cultural identity is heavily influenced
by:

364149 Its technological advancements



364150 The dominance of a single language

364151 The richness and diversity of its languages 0
«— /
364152 The rise of social media platforms
Correct Option: 364151 Candidate Response: 364152

215570 English Raise /
Language  Read the following passage carefully and choose correct option: View
Regarding the cultural mapping of India, the first thought that comes to mind is the Objection

overwhelming plurality of languages here, through which literary traditions flow
effortlessly. The history of literary cultures portrays their confluences and divergences
over centuries, sometimes crisscrossing and at times running parallel to each other.
Literary historians have often commented on the phenomenon of how the inevitable

dialogue amongst these similar and vet diverse traditions has further led igbe
enrichment of each language and its literature, It may be noted that, with the advent of
mmmu_gh%ral traditions continued to exist vibrantly in
the public sphere, what came to be acknowledged as mainstream literature, was what
was written in literary forms such as long and short fiction, poetry, drama. But then, there

has been a constant give-and- take between the written and the oral, duly recognized
right from the days of the epic formulation.

According to the passage, what has been the impact of the interaction
between different Indian literary traditions?

364153 It has led to the decline of oral traditions.

364154 ) It has contributed to the enrichment of each language's literature. l

364155 |t has caused a complete separation between written and oral forms.

364156 It has resulted in the disappearance of some languages.

7

Correct Option: 364154 Candidate Response: 364155



215571

215572

English
Language

English
Language

Raise /
Read the following passage carefully and choose correct option: View

Objection

Regarding the cultural mapping of India, the first thought that comes to mind is the
overwhelming plurality of languages here, through which literary traditions flow
effortlessly. The history of literary cultures portrays their confluences and divergences
over centuries, sometimes crisscrossing and at times running parallel to each other.
Literary historians have often commented on the phenomenon of how the inevitable
dialogue amongst these similar and yet diverse traditions has further led to the
enrichment of each language and its literature. It may be noted that, with the advent of
modernity and the print culture, even though oral traditions continued to exist vibrantly iy/

the public sphere, what came to be acknowlEG0ea as mans Te, was what
as WiTEr T TETaTy forms such as long and short fiction, poetry, drama. But then, there

has been a constant give-and- take between the written and the oral, duly recognized
right from the days of the epic formulation.

What does the passage imply about the relationship between written
and oral traditions in India?

364157 Written traditions have completely replaced oral traditions. r

364158 There has been a clear distinction between the two since ancient times.)o

364159 A continuous exchapge has existed between them, even with the rise of
print cuIturVo

364160 (\/ Oral traditions are considered less valuable than written ones.
Correct Option: 364159 Candidate Response: 364159

Raise /
Read the following passage carefully and choose correct option: View

Objection

Regarding the cultural mapping of India, the first thought that comes to mind is the
overwhelming plurality of languages here, through which literary traditions flow
effortlessly. The history of literary cultures portrays their confluences and divergences
over centuries, sometimes crisscrossing and at times running parallel to each other.
Literary historians have often commented on the phenomenon of how the inevitable
dialogue amongst these similar and yet diverse traditions has further led to the
enrichment of each language and its literature. It may be noted that, with the advent of
modernity and the print culture, even though oral traditions continued to exist vibrantly in
the public sphere, what came to be acknowledged as mainstream literature, was what
was written in literary forms such as long and short fiction, poetry, drama. But then, there
has been a constant give-and- take between the written and the oral, duly recognized
right from the days of the epic formulation.

==

The concept of "epic formulation" in the passage most likely refers to:

364161 creation of long narrative poems that deal with heroic themes.
364162 The invention of the printing press.

364163 The development of a standardized writing system.



215573

215574

English
Language

English
Language

364164 The rise of modern literary genres like short fiction.

Correct Option: 364161 Candidate Response: 364164

Raise /

Read the following passage carefully and choose correct option: View

Regarding the cultural mapping of India, the first thought that comes to mind is the Objection
overwhelming plurality of languages here, through which literary traditions flow
effortlessly. The history of literary cultures portrays their confluences and divergences
over centuries, sometimes crisscrossing and at times running parallel to each other.
Literary historians have often commented on the phenomenon of how the inevitable
dialogue amongst these similar and yet diverse traditions has further led to the
enrichment of each language and its literature. It may be noted that, with the advent of
modernity and the print culture, even though oral traditions continued to exist vibrantly in
the public sphere, what came to be acknowledged as mainstream literature, was what
was written in literary forms such as long and short fiction, poetry, drama. But then, there
has been a constant give-and- take between the written and the oral, duly recognized
right from the days of the epic formulation.

What is the MAIN point of the passage?

364165  To argue for the superiority of written literature gver oral traditions.

364166 To highlight the decline of regional languages in modern India.
364167 To provide a detailed history of Indian literature from ancient times.
-

364168 To explore the connection between (pdia's diverse languages @nd its

lite erl age,

Correct Option: 364168 Candidate Response: 364167

A\\%

Raise /

Read the following passage carefully and choose correct option: View
Regarding the cultural mapping of India, the first thought that comes to mind is the Objection
overwhelming plurality of languages here, through which literary traditions flow

effortlessly. The history of literary cultures portrays their confluences and divergences

over centuries, sometimes crisscrossing and at times running parallel to each other.

Literary historians have often commented on the phenomenon of how the inevitable

dialogue amongst these similar and yet diverse traditions has further led to the

enrichment of each language and its literature. It may be noted that, with the advent of

modernity and the print culture, even though oral traditions continued to exist vibrantly in

the public sphere, what came to be acknowledged as mainstream literature, was what

was written in literary forms such as long and short fiction, poetry, drama. But then, there

has been a constant give-and- take between the written and the oral, duly recognized

right from the days of the epic formulation.

Based on the passage, which title would be most appropriate?

364169 he Dominance of Print Culture in Modern India



364170 The Vitality of Oral Traditions in Indian Literature
364171 Languages and Literary Traditio  Shaping India's C
” ue———
364172 The Inevitable Decline of Regional Languagyo
Correct Option: 364171 Candidate Response: 364169

215575 Reasoning

Select the option in which the word share the same relationship as that
shared by the given pair of words below.
—_—

Square:Cube
364173 \} Triargle: Ol o
364174 Cube: Cuboid W
364175 c P Rectangle Cuboid\gp/
4
364176 Prism: Pyramid
Correct Option: 364175 Candidate Response: 364174

215576 Reasoning

Vinay goes daily to his office from his home. He first Travels 5 km to the

East, then turning to his left to trave —than turning right to travel 5
km, then again turning right to travel 12 km. How far is his office from his
home? VLA
(2erm
\W &

364177 4 .

e__ s 34 Km

BSkm I
364178 17 Km.
364179 12 Km.
364180
Correct Option: 364180 Candidate Response: 364180

215577 Reasoning

Introducing a man, Vishnu said, “His wife is the only daughter of my
wife.” How is Vishnu related to that man? {
/

364181 Father

364182 Grandfather



215578

215579

215580

Reasoning

Reasoning

Reasoning

364183 C/ Father-in-law
z
364184 Son
Correct Option: 364183 Candidate Response: 364181

In a row of persons, the position of Manish from the left side of the row
is 36th and on the right side there are 15 persons after him in the row.

Find the total no. of persons in the row?
__/‘
/ @
[}

v

364185 i

Mowael 40
364186 @ 41
—/
364187 = 21
364188 36
Correct Option: 364186 Candidate Response: 364188

If all planets are spherical, and Mars is a planet, what can we infer about
/
Mars?

364189 Mars is spherical.

/
364190 fa‘k ﬁ( Mars is flat

I

364191 / Mars is square.
/
364192 Mars is red.
- —
Correct Option: 364189 Candidate Response: 364192

Look at this series: 3, 1, (1/3), (1/9), ... What number should come next?

A [ AN
364193 - b (1/12)
364194 e 2% (1/15)
364195 (1721)

364196 2



Correct Option: 364196 Candidate Response: 364193

215581 Reasoning
The following pie-chart shows the percentage distribution of the expenditure
incurred in publishing a book. Study the pie-chart and the answer tie questions
based on it.

Various Expenditures (in percentage) Incurred in Publishing a Book

mg Promotion Cos 7
50/a t)///, Transportation

Cost
Printing Cost 10%
oo, 220 °
0
tg/' —_—
léé/bo annod;?g Paper Cost
Yo 25%

If for a certain quantity of books, the publisher has to pay§22,000 ;A
printing cost, then what will be amount of royalty to be paid for these

books? —

364197 9 315,000
364198 )
364199 318,000
364200 319,500

Correct Option: 364198 Candidate Response: 364197



215582

Reasoning

Binding Paper Cost y
/ 20% 25% ~r€,m§ — éo o
= X

Raise /
View
Objection

The following pie-chart shows the percentage distribution of the expenditure
incurred in publishing a book. Study the pie-chart and the answer the questions
based on it.

Various Expenditures (in percentage) Incurred in Publishing a Book

Promotion Cost
10% Transportation
_ Cost
Printing Cost 10%
20%

Royalty on the book is less than the Paper cost by .

364201 : Aj 40%
/

364202 20%
364203 10%
364204 331, %

Correct Option: 364201 Candidate Response: 364203



215583

215584

215585

Reasoning

Reasoning

Select a figure from amongst the Answer Figures which will continue the
same series as established by the five Problem Figures.

Problem Figures: Answer Figures:

O A7 O= 7|x +=|a x| [& 0o AR Ax 0Oa =
2 A o 71? ? = 0
x =|la x|lo aAl? ol= 2| |x x_ =l x|? Alx 2 E
()

= X
M @ @ @ (A) (B) (C) (D) (B

364205 B Al
?
364206 W o
e
‘ C

364207

364208 E

Correct Option: 364206 Candidate Response: 364206

A_sym of money is to be distributed among A, B, C, D in the proportion
D)

2 43 1f C gets 1000 more than D, what is A's share’?c
aNINcs -

364209 A & < D

364210 s 2z @@

o SN2 (D
g <,

Correct Option: 364212 Candidate Response: 364211

Which word does NOT belong with the others?

364213
—
364214
—
364215
364216

\\Y

Correct Option: 364216 Candidate Response: 364214



215586 Reasoning

Complete the series 1,6,13,2233 —+ 12 Z—Aié
SAANANAN_S b

74w 2
364217 45
364218
364219 48
364220 51
Correct Option: 364218 Candidate Response: 364218

215587 Reasoning  Read the following instructions and answer the questions based on it.

h
1. A+ B indicates A is the brother of B;

2. A-B indicates Alis the sister of B and C, —son—M
3. Ax B indicates A is the father of B —_—

Which of the following means thal C is the son of M?

364221 M M-NxC+F X

364222 F F-C+NxM X

364223 C/ M _C+F
/

364224 2 N+M-FxC

Correct Option: 364223 Candidate Response: 364222

215588 Reasoning  Read the following instructions and answer the questions based on it.

1. A+ B indicates A is the brother of B;
2. A— B indicates A is the sister of B and
3. Ax B indicates A is the father of B

If the code of family isA+ B x C - D, What is the relationmship of D to
/

A?
364225 A E

\ ‘Q 2% Uncle
364226 w Aunty
364227 Cousin

364228 ‘2 @



Correct Option: 364228 Candidate Response: 364227

215589 Reasoning
pair with same ratio from the given pairs.

5 — SRrR?Z
(B).2470 0 —— 24X

/ 22 — 33X2
© oy —— 121 w2 = 367

(E).

ChoaoSe the correct answer from the options given below:

364229 (A), (B) and (D) only

364230 @ (A), (C) and (D) only.
364231 A), (C), (D) and (E).
s (A), (C),
/
364232 (A), (B), (D) and (E).
Correct Option: 364230 Candidate Response: 364230

215590 Reasoning  gased on the information given below, answer the following questions:

‘Balloons are blue’ is coded as ‘834’
—e e

—

‘Rainbow in S‘KY’ is coded as 723’
‘_/ —-—

-~q

‘Carpet is beautiful’ is coded as ‘629’

‘Box is heavy’ is coded as ‘325

_——

What will be the code for ‘India is my country and | love India’?
T4 5

522 7
364233 52272345
5227314 %
364234 52272145
364235 D 52271235
/

—
364236 52273145

Correct Option: 364236 Candidate Response: 364234



215591

215592

Reasoning

Reasoning

Based on the information given below, answer the following questions: Raise /

. s View
Ballooas are blue’ is coded as 834

-
—_—

Objection

‘Rainbow in sky’ is coded as ‘723’
‘Carpet is beautiful' is coded as ‘629’

‘Box is heavy’ is coded as ‘325’

Which of the following can be coded a¢

364237 )deia is my country and Love my country
364238 he liked the gift gifted by her Mom
364239 D Raju Bomin is clrlg@qis best Actor

—_— T —

364240 / _Juhu beach is one of the best DW

Correct Option: 364240 Candidate Response: 364237

- _ (o0&

2 7 K10 2—7—_-' Raise /
In the first 10 overs of a cricket game, the run rate was only 3.7. What View
should be the run rate in the remaining 40 overs to reach the target of Objection

%’PJ" uns? —_—
2
364241 —ﬂ’ 564

364242 6.75

364243 C @
=

364244 6.5

Correct Option: 364243 Candidate Response: 364242



215593

215594

Reasoning

Reasoning

Raise /

) : i View
Given below is a statement followed by two courses of action numbered

Aand B.

Objection

Statement:

10 coaches of a senger train have got derailed and have blocked the
P

railway track from both ends.

Courses of action:

Courses of action A: The railway authorities should immediately senci/
men and equipment and clear the spot. —— —

Courses of action B: All the trains running in both directions should be/
diverted immediately via other routes. =

You have to assume everything in the statement to be true and on the
basis of the information given in the statement, decide which of the
suggested courses of action logically follow(s) for pursuing. Choose the
correct option from the options given below:

364245 Only A is follows

364246 @ Only B is implicit

364247 / Neither A nor B follows.

364248 Both A and B follows.
Correct Option: 364248 Candidate Response: 364245
Raise /
All cats have tails. Some tails are fluffy. What can we infer about cats? View
Objection

364249 ’Some cats have fluffy tails.i

364250 All cats have fluffy tans/O

_—
364251 Cats don't have tails)d

364252 2&'/ Cats are not mammals)/

Correct Option: 364249 Candidate Response: 364249



215595

215596

215597

Reasoning

Reasoning

Reasoning

Raise /

Vie
In the following question, two statements numbered | and Il are given. o

There may be cause and effect relationship between the two statements.
These two statements may be the effect of the same cause or
independent causes. These statements may be independent causes
without having any relationship. Read both the statements in each
question and mark your answer from the following Options.

Objection

Statements I: The prices of petrol and diesel in the domestic mark

have remained unchanged for the past few months.
—_—

Statements II: The crude oll prices in the international market have
gone up substantially in the last few months.

In light of the above statements, choose the correct answer from the
options given below.

364253 Statement | is the cause and statement Il is its effect

364254 K) Statement |l is the cause and statement | is its effect

364255 / Both the statements | and || are independent causes

364256 oth the statements | and || are effects of independent causes.
Correct Option: 364256 Candidate Response: 364253

Raise /
If SUMMER is coded RUNNER, the code for WINTER is View

SU M M E V& Objection
L 2 &}—I \\/H gsti VUITER

Qu N r C

(

364257 4

364258 Y SUFFER

364259 " N T E ¢
V )

364260 WALKER
U ER

Correct Option: 364259 Candidate Response: 364259

pLAmE

6,12,1,13,5istoflame as 3, 1,19, 20, 12, 5isto ?
364261 C AS 6

364262

Raise /
View
Objection

364263




364264 —blade—

Correct Option: 364262 Candidate Response: 364264

215598 Reasoning

Given below is a number series with one term missing. Choose the
correct alternative that will follow same pattern and fill in the blank

spaces.
12058 ©) @
=
364265 6
364267 10
364268 11
Correct Option: 364266 Candidate Response: 364266
215599 Reasoning
Arrange the following words in a meaningful sequence :
(A). Patient —~ @
ADp EC
(B). Diagnosis @ .
(C). Bill _— @
(D). Doctor _—@
(E) Treatment - @
Choose the correct answer from the options given below:
364269 (A), (B), (C), (D).(E)
364270 & (D), (C), (A), (B).(E)
364271 = (A), (D), (B), (E),(C)
364272 (C), (B), (D), (A)(E)

Correct Option: 364271 Candidate Response: 364271



215600

A

215601

215602

Reasoning

Reasoning

Reasoning

Raise /
Given below is a statement and two assumptions. These assumptions View
may or may not be implicit in the statement. Objection

Statement: “Complete this project on water management by tomorrow”.
Senior officer to his subordinate.

7

Assumption A: The subordinate will comply with the orders of his
senior. P ————

Assumption B: The subordinate will not complete the project by
tomorrow.

Determine whether one or both assumptions are implicit or not in the
given statement and choose the correct option from the options given

below:
364273 Only Assumption A is implicit
364274 Only Assumption B is implicit
—_—
364275 Neither Assumption A nor Assumption B are implicit
364276 Both Assumption A and Assumption B are implicit
Correct Opti Candidate Response: 364273
Raise /
Which one set of letters when sequentially placed at the gaps in the View
given letter series shall complete it ? Objection
abbceaabpccaabbcc
c ba
364277 bacb
364278
364279 caba
364280 abba
Correct Option: 364278 Candidate Response: 364277
/\> Raise /
Insect : Disease - War : : View

Objection

Fill the blank place with correct option given below.

364281



Army
—
364282 p Defeat
364283 Arsenal
364284 @
Correct Option: 364284 Candidate Response: 364282
215603  Reasoning  syygy the following table carefully and answer the questions given below it: Raise /
View
Number of Different categories of vehicles sold in the country over the years (in -
thousands) Objection
Year |Heavy Commercial Light Commercial - Two
Vehicles Vehicles PSWheelers
1990 |26 64 — 232 |153 4340 >
1991 [ 45 60 < 242 (172 [336 ~
1992 |72 79 248 (210 (404
1993 | 81 93 280 (241 (411
1994 (107 12y __ 2% |266 [235((442 )
Total | 331 408 1268|1011 [ 1933

In which of the following years was the number of light commercial
vehicles sold approximately 25% of the number of 2-wheelers sold?

364285 1001

364286 0 1992
/

364287 = 1993

Correct Option: 364288 Candidate Response: 364287



215604

215605

215606

Reasoning

2%
7

General
Knowledge

General
Knowledge

Study the following table carefully and answer the questions given below it: Raise /

View
Number of Different categories of vehicles sold in the country over the years (in

thousands)

Objection

Year Hezj)vy Commercial Light Commercial | . - Two
Vehicles Vehicles Wheelers
1990 | 26 64 232 (153 [340
1991 | 45 60 242 172 | 3%
1992 | 72 79 248 [210 |404 27
1993 | 81 93 280 |241 | 411 =L _XIoD
1994 [107 o 112 266 |235 | 442 2| -
Total | 331 — 408 1268[ 1011 | 1933 2\33A

775 (14 =32=

If the samepercentage increase in the number of Heavy Vehicle as in
1994 over 1993 is expected in 1995, approximately how many_heavy

vehicles will be sold in 1995?
/ f) 0 :5)
364289

364290 /0%3{5@ 'é'

-

364291
364292 156
Correct Option: 364290 Candidate Response: 364290
Raise /
Which institution released guidelines for Investor Protection Fund (IPF) View
and Investor Services Fund (ISF)? __/——;: Objection
364293 RBI
364294 PFRDA
364295 @
364296 ICICI
Correct Option: 364295 Candidate Response: 364295
Raise /
Which of the following can be used to provide security while conducting View
e Commerce? Objection
364297 E Mail
364298 Internet

\0o

364299



Digital Signature

364300 File

Correct Option: 364299 Candidate Response: 364298

215607 General

Knowledge
Flipkart, Amazon, Alibaba are the examples of

364301
364302

(o

364304 =

Correct Option: 364301 Candidate Response: 364301

215608 General

Knowledge
Who has been conferred with the first ever ‘Udyog Ratna’ award
instituted by Maharashtra?
364305 Lakshmi Mittal
364306 Mukesh Ambani
364307 Gautam Adani
364308 Ratan Tata

Correct Option: 364308 Candidate Response: 364308

215609 General

Knowledge
URL stands for
364309 Uniform Resource Locator
364310 Uniform Record Locator
364311 Uninterrupted Read Locator

364312 Uninterrupted Record Locator



Correct Option: 364309 Candidate Response: 364309

215610 General

Knowledge
The World Environment Day is celebrated on

364313 7th June
364314
364315 5th July
364316 22nd June
Correct Option: 364314 Candidate Response: 364314

215611 General
Knowledge Which two teams played in the ICC Cricket World Cup Finale of 20232

364317 India and Pakistan
364318 South Africa and Australia
364319 India and South Africa

364320 India and Australia

Correct Option: 364320 Candidate Response: 364320

215612 General

Knowledge
What is the folk dance of Assam?

364321 Wancho

364322

364323 Fugdi

364324 Mohiniyatam
Correct Option: 364322 Candidate Response: 364321

215613 General
Knowledge \Who discoverd Solar System?

364325 Galileo



364326 John Hadley

364328 Newton

Correct Option: 364327 Candidate Response: 364327

215614 General

Knowledge
Which Indian institution nudged Google and Apple to secure mobile

devices for financial transactions?

364329 NPCI

364330 Securities Exchange Board of India

364331 Reserve Bank of India

364332 NASSCOM
Correct Option: 364331 Candidate Response: 364330

215615 General
Knowledge \What is the name of the ‘Festival of Innovation in Arts’, which was
launched on World Intellectual Property Day?

364333 NIPUN

364334 ATAL

364335

364336 MAHAN
Correct Option: 364335 Candidate Response: 364336

215616 General
Knowledge  Which Union Ministry launched the ‘eSARAS mobile App'?

364337 Ministry of MSME
364338 Ministry of External Affairs
364339 Ministry of Power

364340

Ministry of Rural Development




215617

215618

215619

215620

General
Knowledge

General
Knowledge

General
Knowledge

Computer
Basics

Correct Option: 364340 Candidate Response: 364339

Which bank has recently launched the Nari Shakti Savings Account?

364341 SBI
—

364342 ICICI
-—

364343 HDFC

364344 Bank of India

Correct Option: 364344 Candidate Response: 364344

Satwiksairaj Rankireddy and Chirag Shetty are associated with which
sports?

364345 Foot Ball

364346 Tennis

364347 Table Tennis

364348
Correct Option: 364348 Candidate Response: 364347

The word bandwidth is also usedtomean __~ ?

364349 number of the computers on a particular network

364350 width of the data cable

364351 amount of data transfe@

364352 amount of data received
Correct Option: 364351 Candidate Response: 364349

What does the COMPUTER stand for?

364353



215621 Computer
Basics

215622 Computer
Basics

215623 Computer
Basics

mmonly Operated Machines Used in Technical and Educational
Research

364354 Commonly Occupied Machines Used in Technical and Educational
Research

364355 Commonly Operated Machines Used in Technical and Environmental
Research

364356 Commonly Oriented Machines Used in Technical and Educational
Research

Correct Option: 364353 Candidate Response: 364356

An internet service that allows the user to move a file.

364357 7 p ‘% 6

364358 P/ Telnet

364359 UseNet
364360 Time Sharing
Correct Option: 364357 Candidate Response: 364357

Who developed the basic architecture of computer?

364361 Blaise Pascal

364362 John Von Neumann

364363 Charles Babbage

364364 Henry fayol
Correct Option: 364362 Candidate Response: 364362

Which of the following allows simultaneous write and read operations?

364365
364366

364367




364368 CD-RoyO

Correct Option: 364367 Candidate Response: 364366
215624 Computer
Basics The address in the main memory is known as -
364369 Logical address
364370 Physical address
364371 Memory address
364372 IP address
Correct Option: 364370 Candidate Response: 364372
215625 Computer
Basics Which of the following is not considered as a peripheral device?
364373
364374 Keyboard
364375 Monitor
364376 Printer
Correct Option: 364373 Candidate Response: 364376
215626 Computer
Basics The collection of 8-bits is called as -
\
364377
364378 Nibble
364379 Word
364380 Record
Correct Option: 364377 Candidate Response: 364380

215627 Computer
Basics The software designed to perform a specific task:



364381 Synchronous Software /

364382 Package Software
364383 Application Software
364384 System Software °
Correct Option: 364383 Candidate Response: 364383
215628 Computer
Basics What does MIMD stand for?
364385 Multiple Instruction Memory Data
364386 Multiple Instruction Multiple Data
364387 Memory Instruction Multiple Data
364388 Memory Information Memory Data
Correct Option: 364386 Candidate Response: 364385
215629 Computer
Basics In which of the following form the computer stores its data in memory?
364389 Hexadecimal form
364390 Octal form
364391
364392
Correct Option: 364391 Candidate Response: 364392
215630 Computer
Basics
364393 Register Memory
364394
364395
364396

Correct Option: 364394 Candidate Response: 364396



215631

215632

215633

215634

Computer
Basics

Computer
Basics

Computer
Basics

Computer
Basics

364397
364398
364399
364400

Correct Option: 364400

364401

364402
364403
364404

Correct Option: 364402

364405
364406
364407
364408

Correct Option: 364406

364409
364410
364411

364412

Correct Option: 364409

Candidate Response: 364399

Candidate Response: 364402

Candidate Response: 364407

Candidate Response: 364411

View Objection Summary

[T (11 S A (T}



